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PART-I MATHS
1. What is the unit place digit of 679 x 671 x 56 x 5 ?

(A) 0 (B) 1

(C) 4 (D) 6

2. If 14 x x = 1050, Then 4 x = ?

(A) 100 (B) 200

(C) 300 (D) 400

3. If (64)2 - (36)2 = 10 x x, then x = ?

(A) 280 (B) 140

(C) 70 (D) 35

4. Which natural number nearest to 9216, which is

completely divisible by 88?

(A) 9230 (B) 9236

(C) 9240 (D) 9250

5. The ratio of age of a father to that of his son is

5 : 2. If the product of their ages in years is 1000,

then the father’s age (in years) after 10 years will

be :

(A) 50 (B) 60

(C) 45 (D) 55

6. If 
2

1
sin  , then cos = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

7.
2

1

2

1 









 is equal to :

(A) 2 (B) - 2

(C) 1 (D)
2

1

8. If the cost price of an article is 60% of its selling

price, the profit percent is :

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%

1. 679 x 671 x 56 x 5 dk bZdkbZ vad D;k gS ?
(A) 0 (B) 1

(C) 4 (D) 6

2. ;fn 14 x x = 1050, gks rks 4 x dk eku D;k gS?
(A) 100 (B) 200

(C) 300 (D) 400

3. ;fn (64)2 - (36)2 = 10 x x, rks x = ?

(A) 280 (B) 140

(C) 70 (D) 35

4. 9216 ds fudVre og dkSu&lh izkÑr la[;k gS tks
88 ls iw.kZr% foHkkftr gS?
(A) 9230 (B) 9236

(C) 9240 (D) 9250

5. firk rFkk iq= dh vk;q dk vuqikr 5 : 2 gSA ;fn
nksuksa dh vk;q dk xq.kuQy o’kksZ esa 1000 gS] rks firk
dh vk;q (o’kZ esa) 10 o’kZ ckn fdruh gksxh \
(A) 50 (B) 60

(C) 45 (D) 55

6. ;fn 
2

1
sin  , gks rks cos  = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

7.
2

1

2

1 









 dk eku gS%

(A) 2 (B) - 2

(C) 1 (D)
2

1

8. ;fn fdlh oLrq dk Ø; ewY; mlds foØ; ewY; dk
60% gS rks ykHk % fdruk gS \

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%
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9. jes”k dk osru lksgu ds osru ls 25% vf/kd gS rks
lksgu dk osru jes”k ds osru ls fdruk izfr”kr de
gS\
(A) 24% (B) 27.5%

(C) 20% (D) 25%

10. nks la[;kvksa dk e0l0 96 gS rFkk mudk y0l0 1296

gSA ;fn muesa ls ,d la[;k 864 gS rks nwljh la[;k
gS%
(A) 148 (B) 144

(C) 196 (D) 156

11. Øfed cêksa 20%, 25%, rFkk 10% ds lerqY; ,dy
cêk gS:
(A) 40% (B) 44%

(C) 54% (D) 46%

12. 6 cm Hkqtk,¡ ckys leckgq f=Hkqt ds var%òr dk {ks=Qy
fdruk gS\

(A)
2


  oxZ lseh (B) 3   Sq cm

(C) 6   Sq cm (D) 3   Sq cm

13. 800 dk 40 izfr”kr $ 400 dk 20 izfr”kr cjkcj gS ?
(A) 160 (B) 400

(C) 280 (D) 320

14. nks la[;kvkssa dk vuqikr 3 : 5. gSA ;fn izR;sd la[;k
esa ls 9 ?kVk fn;k tk; rks vuqikr 12 : 23, gks tkrk
gS cM+h la[;k Kkr dhft;s %
(A) 55 (B) 115

(C) 69 (D) 28

15. rhu yxkrkj fo’ke la[;vksa ds oxksZ dk ;ksx 2531

gSA rks lcls NksVh la[;k Kkr dhft;s%
(A) 23 (B) 25

(C) 27 (D) 29

9. Ramesh’s salary is 25% more than sohan’s salary.

Sohan’s salary is how much less than Ramesh’s

salary?

(A) 24% (B) 27.5%

(C) 20% (D) 25%

10. The H.C.F. of two number is 96 and their L.C.M. is

1296. If one of the numbers is 864, the other is :

(A) 148 (B) 144

(C) 196 (D) 156

11. The single discount which is equal to successive

discounts of 20%, 25%, and 10% is :

(A) 40% (B) 44%

(C) 54% (D) 46%

12. Area of the incircle of an equidateral triangle with

side 6 cm is :

(A)
2


 Sq cm (B) 3  Sq cm

(C) 6   Sq cm (D) 3  Sq cm

13. 40% of 800 + 20% of 400 = ?

(A) 160 (B) 400

(C) 280 (D) 320

14. The numbers are in the ratio of 3 : 5. If 9 be

subtracted from each, then they are in the ratio of

12 : 23, find the bigger number :

(A) 55 (B) 115

(C) 69 (D) 28

15. The sum of the squares of three consecutive odd

numbers is 2531. Find the smallest number:

(A) 23 (B) 25

(C) 27 (D) 29
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16. Which of the following gas is not known as green

house gas?

(A) Methane (B) Carbon dioxide

(C) Nitrous Oxide (D) Hydrogen

17. Which method of water purification does not kill

microorganism:

(A) Boiling (B) Filtration

(C) Chlorination (D) UV-irradiation

18. Chlorofluro carbons are widely used in :

(A) Solar heaters (B) Refrigerators

(C) Washing machine (D) Microovens

19. Light year is a unit of :

(A) Distance (B) Speed of light

(C) Speed (D) Time

20. Curie is a unit of :

(A) Radio activity (B) Energy

(C) Heat (D) Temperature

21. If the momentum of a body is increased by 50%. its

K.E. will increase by :

(A) 100% (B) 125%

(C) 200% (D) 150%

22. Cooking will take longest time at :

(A) Sea level (B) Manali

(C) Mount  Everest (D) Delhi

23. The loudness of sound depends upon :

(A) Pitch (B) Amplitude

(C) Wavelength (D) Velocity

24. The conductivity of superconductor is :

(A) Very large (B) Very small

(C) Infinite (D) Zero

PART-I SCIENCE

16. fuEu esa ls dkSu&lh gfjr xSal ugh gS\

(A) feFksu (B) dkcZu MkbD¡lkbM

(C) ukbVªl vkWDlkbM (D) gkbMªkstu

17. ty “kq)hdj.k ds fdl rjhds ls lwPethoh ugha

ejrs \

(A) mckyuk (B) fuL;anu

(C) Dyksjhfudj.k (D) ;w0oh0&foHkklu

18. Dyksjks¶yksjka dkcZu dk izeq[kr% fdles bLrseky gksrk

gS%

(A) lksyj ghVj (B) jsfÝtjsVj

(C) okf”kax e”khu (D) ekbØks vksosu

19. ^izdk”k o’kZ^ fdldh bZdkbZ gS \

(A) nwjh dh (B) izdk”k ds xfr dh

(C) xfr dh (D) le; dh

20. ^D;wjh^ fdldh bZdkbZ gS\

(A) jsfM;ksfDVfoVh (B) ÅtkZ

(C) m’ek (D) rki

21. ;fn fdlh oLrq dk vkosx 50% c<+k fn;k tk, rks

mldh {kfrt ÅtkZ fdruh c<+ tk,xh \

(A) 100% (B) 125%

(C) 200% (D) 150%

22. dgk¡ [kkuk cukus esa lcls T;knk le; yxsxk\

(A) leqnz&ry ij (B) eukyh esa

(C) ekmaV ,ojsLV ij (D) fnYyh esa

23. vkokt dh izcyrk fdl ij fuHkZj djrh gS\

(A) Lojeku (B) vk;ke

(C) rjaxnS/;Z (D) osx

24. vfrpkyd dh (pkydrk) fdruh gksrh gS\

(A) cgqr vf/kd (B) cgqr de

(C) vuUr (D) “kwU;
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25. 1 amu is equal to :

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

26. How many neutrons are there in an atom of

hydrogen  ?

(A) One (B) Zero

(C) Two (D) Three

27. Which of the following has highest frequency?

(A) Cosmic rays (B) X-rays

(C) Radio waves (D) Microwaves

28. The compound which has covalent bond is :

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O

29. The colour of hydrogen is :

(A) Yellow (B) Colourless

(C) Red (D) Orange

30. Who is  known as father of Biology?

(A) Aristotle (B) Darwin

(C) Lamark (D) Purkenja

25. 1 ,0,e0;w0 cjkcj gksrk gS%

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

26. gkbMªkstu ds v.kq esa fdrus U;wVªkWu gksrs gS\

(A) ,d (B) “kwU;

(C) nks (D) rhu

27. fuEu esa ls fdldh lcls vf/kd vko`fr gksrh gS\

(A) dkWfLed fdj.ksa (B) X-fdj.ksa

(C) jsfM;ksa rjax (D) “kw{erjaxs

28. fdl ;kSfxd esa lg&la;kstd ca/ku gS\

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O

29. gkbMªkstu dk jax gksrk gS%

(A) ihyk (B) jaxghu

(C) yky (D) ukjaxh

30. tho foKku ds firk ds :i esa fdls tkuk tkrk gS\

(A) vjLrq (B) Mkjfou

(C) ykedZ (D) iqdsZtk
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Direction (31-34) : In each of the following question, some

part of the sentences have errors and some have

none. Find out which part of a sentence has an

error. If a sentence is free from error then your

answer is (D).

31. (A) All oranges (B) in the basket

(C) are over-ripe (D) No error

32. (A) They

(B) have to return back

(C) immediatyely

(D) No error

33. (A) Rabindra lost

(B) a hundred rupees note

(C) yesterday

(D) No error

34. (A) I and Rani will (B) go to the market

(C) in the evening (D) No error

Direction (35 - 37) : In each of the following questions,

out of the four alternatives, Choose the one which

best expresses the meaning of the given word as

your anser :

35. Periodic

(A) Continuous (B) Regular

(C) Occasional (D) Infrequent

36. Gruesome

(A) Sullen (B) Hideous

(C) Exhausting (D) Insulting

37. Solitary

(A) Idle (B) Lost

(C) Lonely (D) Quiet

Direction (38-40) : In the following questions, choose the

word opposite in meaning to the given word as your

answer :

38. Knack

(A) Talent (B) Dullness

(C) Dexterity (D) Balance

PART-I ENGLISH

39. Pernicious

(A) Prolonged (B) Ruinous

(C) Ruthless (D) Beneficial

40. Flippant

(A) Shallow (B) Serious

(C) Strong (D) Successful

Direction (41-43) : In the following questions fill in the

blanks with appropriate preposition :

41. The calculator is ........... the table :

(A) on (B) in

(C) upon (D) above

42. Sohan travelled .............. train :

(A) in (B) by

(C) on (D) into

43. He should take care ................ his health :

(A) of (B) on

(C) to (D) for

Direction (44-45) : In the following questions, out of the

four alternatives choose the one which can be

substituted for the given words/sentence :

44. An assembly of worshippers :

(A) Configuration (B) Confrontation

(C) Congregation (D) Conflagration

45. A medicine to nullify the effect of poison :

(A) Antidote (B) Anticlimax

(C) Antibody (D) Antigen
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46. Who among the following is the present Finance

Minister of India?

(A) Suresh Prabhu (B) Arun Jaitley

(C) Sushama Swaraj (D) Mahesh Sharma

47. Who is the Present Chief of ISRO?

(A) A. S. Kiran Kumar

(B) Madhavan Nair

(C) S. Reddy

(D) M. Arvindan

48. Typhoid fever is caused by :

(A) Bacteria (B) Virus

(C) Protozoa (D) Fungi

49. National bird of India is :

(A) Parrot (B) Peacock

(C) Crow (D) Pigeon

50. Which one of the following is the world’s largest

desert ?

(A) Sahara (B) Thar

(C) Kalahari (D) Jaisalmer

51. Which of the following is not a Union Territory?

(A) Lakshadweep (B) Pondicherry

(C) Nagaland (D) Daman & Diu

52. The kharif crops are harvested in :

(A) June-July (B) October-November

(C) May-June (D) March-April

53. Which one of the following is a wildlife Sanctuary?

(A) Shimla (B) Corbett

(C) Champahari (D) Gorumara

PART-I GENERAL KNOWLEDGE AND AWARENESS

46. Hkkjr dk orZeku foÙkea=h fuEufyf[kr esa ls dkSu

gS \

(A) lqjs”k izHkq (B) v:.k tsVyh

(C) lq’kek Lojkt (D) egs”k “kekZ

47. (ISRO) bljks ds oÙkZeku izeq[k dkSu gS\

(A) ,0,l0 fdj.k dqekj

(B) ek/kou uk;j

(C) ,l0 jsìh

(D) ,e0 vjfoUnu

48. VkbQk;M cq[kkj dk dkj.k gS%

(A) cSfDVjh;k (B) fc’kk.kq

(C) izksVkstksvk (D) Qaxh

49. Hkkjr dk jk’Vªh; i{kh gS %

(A) rksrk (B) eksj

(C) dkSvk (D) dcwrj

50. fo”o dk fuEufyf[kr esa ls lcls cM+k e:LFky dkSu

gS\

(A) lgkjk (B) Fkkj

(C) dkykgkjh (D) tSlyesj

51. fuEu esa ls dkSu&lk dsUnz ”kkflr izns”k ugh gS\

(A) y{k}hi (B) ikafMpsjh

(C) ukxkySaM (D) neu ,oa nhi

52. [kjhQ Qly dh dVkbZ dc gksrh gS\

(A) twu&tqykbZ (B) vDVwcj&uoEcj

(C) ebZ&twu (D) ekpZ^vizSy

53. fuEu esa ls dkSu ^oU; tho vHk;kj.;^ gS%

(A) f”keyk (B) dkWcsZV

(C) pEikgkjh (D) xks:ekjk
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54. ‘Yellow Revolution’ is associated with :

(A) Gold (B) Oil seeds

(C) Sunflower (D) Poultry

55. ’Kesri’ Newspaper was started by:

(A) G.K. Gokhale

(B) B.G.Tilak

(C) Sardar Patel

(D) Raja Ram Mohan Roy

56. Who among the following was NOT a physician?

(A) Sushruta (B) Charaka

(C) Charvaka (D) Dhanvantari

57. How many players are there in a football team ?

(A) 11 (B) 10

(C) 9 (D) 8

58. What is the national game of Canada?

(A) Ice Hockey (B) Football

(C) Baseball (D) Rugby

59. Where is Airforce academy situated?

(A) Jalahalli (B) Hyderabad

(C) Bangalore (D) Pune

60. When is ‘Bihar Diwas’ celebrated?

(A) June 22 (B) March 22

(C) August 22 (D) July 22

54. ^ihyh Økafr% fdlls lEcfU/kr gS \

(A) lksuk (B) rsygu

(C) lw;Zew[kh (D) eqxhZ ikyu

55. ^dsljh^ lekpkji= dh “kq:vkr fdlus dh Fkh \

(A) th0 ds0 xks[kys

(B) ch0th0 fryd

(C) ljnkj iVsy

(D) jktkjke eksgu jk;

56. fuEu esa ls dkSu fpfdRld ugha Fkk\

(A) lqJqr (B) pjd

(C) pokZd (D) /kuoarjh

57. QqVckWy Vhe esa fdrus f[kykM+h gksrs gS\

(A) 11 (B) 10

(C) 9 (D) 8

58. dukMk dk jk’Vªh; [ksy D;k gS%

(A) vkbl gkWdh (B) QqVckWy

(C) oslckWy (D) jXch

59. ,;jQkslZ vdkneh dgk¡ fLFkr gS\

(A) tykgyh (B) gSnjkckn

(C) caxyksj (D) iw.ks

60. ^fcgkj fnol^ dc euk;k tkrk gS\

(A) twu 22 (B) ekpZ 22

(C) vxLr 22 (D) tqykbZ 22
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PART-II PROFESSIONAL KNOWLEDGE

61. The head (stock) of T-square is made out of....... :

(A) Wood/Celluloid (B) Metallic Platc

(C) Hard board (D) Ceramic material

62. Protractor is used to draw :

(A) Line (B) Measure angle

(C) Various shape (D) Regular shape

63. The set square are made up straight surface :

(A) 3 (B) 4

(C) 5 (D) None of these

64. What is the material of high grade drawing

instrument :

(A) Cadmium (B) Nickel

(C) Aluminimum (D) Stainles steel

65. Which type of compass is used for dividing?

(A) Large compass (B) Small compass

(C) Medium compass (D) Beam compass

66. Angle at a point is ...................... :

(A) 90° (B) 180°

(C) 270° (D) 360°

67. We obtain 180° in :

(A) Reflex angle (B) Adjacent angle

(C) Straight angle (D) Complementary angle

68. Which one of the following is more durable material

for scale?

(A) Wood (B) Ivory

(C) Cellculoid/plastic (D) Stainless steel

69. What is the length and breadth ratio of a drawing

paper?

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

70. Which of the following pencil lead is softest?

(A) 7 B grade (B) 6 B grade

(C) 5 B grade (D) 4 B grade

61. Vh LDok;j dk gSM LDos;j fdlls feydj curk gS\
(A) ydM+h (B) /kkrq dh IysV ls
(C) dBksj r[rk (D) phuh feV~Vh ls

62. izdkj dk iz;ksx D;k gksrk gS%
(A) ykbu (B) mik; ds dks.k
(C) fofHkUu vkdkj (D) leku vkdkj

63. lsV LDos;j dh lh/kh lrg ds fdrus Hkkx gksrk gS%
(A) 3 (B) 4

(C) 5 (D) mijksä esa ls dksbZ ugh

64. MjkbZax bULVwesaV ckDl esa gkbZ xszM leku dkSu lk gS%
(A) daMfe;e (B) fuDdy
(C) ,syqfefu;e (D) LVsuysl LVhy

65. fMokfMax ds fy, dkSu lk izdkj iz;ksx esa yk;k
tkrk gS\
(A) cM+h izdkj (B) NksVk izdkj
(C) e/;e izdkj (D) che izdkj

66. dks.k dk fcUnq fdruk gksrk gS\
(A) 90° (B) 180°

(C) 270° (D) 360°

67. 180° dk dks.k fdrus ij curk gS\
(A) fjQysDl dks.k (B) ,sMtSlsaV dks.k
(C) lh/kk dks.k (D) dkEiyheSUVªh dks.k

68. dkSu lk ekiuh lcls T;knk etcwr gksrk gS\
(A) ydM+h (B) bZoksjh
(C) IyflfVd (D) LVsuySl LVhy

69. Ao dkxt dh yackbZ % pkSM+kbZ dk vuqikr D;k gS\

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

70. dkSu lh iSflay fd uksd lk¶V gksrh gS\
(A) 7 B xzsM (B) 6 B xzsM
(C) 5 B xzsM (D) 4 B xzsM
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71. What is the angle of inclined letter to be drawn

through right side?

(A) 75° (B) 60°

(C) 30° (D) 15°

72. What is the minimum spacing between words in type.

A standard of lettering?

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

73. Letters are designated by their :

(A) Bottom width (B) Thickness of stroke

(C) Top width (D) Height

74. What is the standard width of capital letter M in

terms of thickness d?

(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

75. Which one is a method of dimensioning :

(A) Horizontal system

(B) Vertical system

(C) Aligned system

(D) Allen system

76. The recommended method of dimensioning a

sphere with diameter 20 mm is :

(A) 20  s (B)  20 s

(C) s 20 (D) s 20

77. Choose which one R.F. represents reduced scale

drawing?

(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

78. Name the scale on the principle of similar triangle :

(A) Enlarged scale (B) Plain scale

(C) Reduced scale (D) Diagonal scale

79. Name the type of scale used to measure 3.88 metres:

(A) Plain scale (B) Reduced scale

(C) Diagonal scale (D) Enlarged scale

71. tks v{kj frjNs j[ks tkrs gS mudk dks.k D;k gksrk
gS\
(A) 75° (B) 60°

(C) 30° (D) 15°

72. VkbZi ‘A’ LVsaMMZ esa nks v{kjksa ds chp esa fdruk xsi
j[kk tkrk gS%

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

73. v{kj dSls cuk, tkrs gS%
(A) uhps dh pkSM+kbZ ij (B) v{kj dh eksVkbZ ij
(C) Åij dh pkSM+kbZ ij (D) yEckbZ ij

74. lk/kkj.k pkSM+kbZ M dh eksVkbZ d ds {ks= esa D;k gS\
(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

75. MkbeSu”kfuax ds eSFkM dkSu&dkSu ls gksrs gS %
(A) gkfjtkuVy flLVe
(B) ofVZdy flLVe
(C) ,ykbUM flLVe
(D) ,Sfyu flLVe

76. LQs;j dh MkbZeS”kfuax ds Mk;ehVj 20 mm dks dSls
fy[kk tkrk gS\
(A) 20  s (B)  20 s

(C) s 20 (D) s 20a

77. R.F. dks fjM;wlM Ldsy ij dSls fMuksV fd;k tkrk
gS%
(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

78. f=dks.k ds fl)kar dk iSekuk fdl ij vk/kkfjr gS%
(A) cM+s iSekus (B) lkns iSekus
(C) de iSekus (D) fod.kZ iSekus

79. 3-88 eh ekius ds fy, bLrseky iSekus ds izdkj dk
uke D;k gS\
(A) lkns iSekus (B) de iSekus
(C) fod.kZ iSekus (D) cM+s iSekus



12ASI-DRAUGHTSMAN SET-A

80. If the actual length of line 50 mm is drawn to a

length 10 mm, which is the ratio followed:

(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2

81. Triangle is a closed plane figure having .............no.

of sides and .............no. of angles :

(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

82. Name the triangle whose sides are equal :

(A) Equilateral triangle (B) Right angled triangle

(C) Scalene triangle (D) Isosceles triangle

83. Quardrilateral has ....... sides and angles:

(A) 3 (B) 5

(C) 4 (D) 6

84. In a rectangle, opposite sides are equal and

parallel and all four angles are :

(A) Acute (B) Obtuse

(C) More than 90° (D) Right angled

85. The distance from the centre to any point on the

circumference of the circle is called :

(A) Diameter (B) Radius

(C) Chord (D) Sector

86. In a rhombus how many sides are equal ?

(A) 1 (B) 2

(C) 3 (D) 4

87. Part of circle with radii making 90° with each other

is called as :

(A) Arc (B) Internal thread

(C) Segment (D) Quadrant

88. Thread formed outside of a shaft are called :

(A) External thread (B) Internal thread

(C) Right hand thread (D) Left hand thread

80. ;fn 50mm dh okLrfod yackbZ 10mm dj nh tk,
rks ml D;k dgrs gS\
(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2

81. f=Hkqt tks ,d can lrg gS mlds vkdM+ks vkSj d.kksa
fd la[;k D;k gS\
(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

82. f=Hkqt ftldh nks i+{k cjkcj gksrs gS mls D;k dgrs
gS\
(A) cjkcj f=Hkqt (B) lgh dks.k f=Hkqt
(C) fo’keukgq f=Hkqt (D) lef)ckgq f=Hkqt

83. prqHkZt ds fdrus i{k vkSj dks.k gksrs gS\
(A) 3 (B) 5

(C) 4 (D) 6

84. ,d vk;r es fojks/kh i{k cjkcj vkSj leku gksrs gS rks
muds pkjks dks.k dSls gksrs gS\
(A) rhoz (B) dqfBr
(C) 90° ls T;knk (D) lh/ks dks.k

85. o`r dh ifj/kh ij fdlh Hkh eqn~ns ij dsUnz ls nwjh dks
D;k dgrs gS%
(A) O;kl (B) f=T;k
(C) T;k (D) {ks=

86. fo’kedks.k ds fdrus i{k cjkcj gksrs gS%
(A) 1 (B) 2

(C) 3 (D) 4

87. ,d nwljs fd f=T;k ds lkFk 90° dk dks.k cukrs gS
rks mls D;k dgrs gS\
(A) pki (B) vUn:uh T;k
(C) [kaMsa (D) mYVs gkFk dk /kkxk

88. vxj ,d “kk¶V ds ckgj ij ,d xfBr pwM+h gS rks
mls D;k dgk tkrk gS%
(A) ckgjh /kkxk (B) vUnz:uh /kkxk
(C) lh/ks gkFk dk /kkxk (D) myVs gkFk dk /kkxk
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89. Which type of threads are used in power press,

carpentry vice, ratchets:

(A) Knuckle thread

(B) Acme thread

(C) Buttress thread

(D) BSW thread

90. Name the element of external thread :

(A) Creast (B) Root

(C) Flank (D) Pitch

91. Name the element of internal thread :

(A) Pitch (B) Root

(C) Flank (D) Crest

92. What is the angle in british assosiation method :

(A) 55° (B) 47.5°

(C) 60° (D) 30°

93. What is the thread angle for metric threads :

(A) 30° (B) 47.5°

(C) 60° (D) 55°

94. Name the type of thread in which pressure acts at

one flank of the thread during transmission :

(A) Buttress thread (B) Knuckle thread

(C) Acme thread (D) Metric acme thread

95. What is the angle of buttress thread :

(A) 30° (B) 45°

(C) 47.5° (D) 60°

96. How many starts of thread are there in the multisquare

thread :

(A) Single start thread

(B) Double start thread

(C) Triple start thread

(D) Acme triple start thread

97. The metric acme thread has an angle of ......... :

(A) 60° (B) 50°

(C) 40° (D) 30°

89. /kkxs dk tks izdkj fctyh izsl] c<+bZxhjh esa iz;ksx
fd;k tkrk gS mls D;k dgrs gS%
(A) uDdy /kkxk
(B) ,Des /kkxk
(C) i”rk /kkxk
(D) ch,lMCyw /kkxk

90. ckgjh pwM+h ds rRo dk uke D;k gS%
(A) f”k[kk (B) tM+
(C) fn”kk (D) fip

91. vUnz:uh pwM+h ds rRo dk uke %
(A) fip (B) tM+
(C) fn”kk (D) f”k[kk

92. fczfV”k laXBu esa dks.k dh fof/k D;k gS\
(A) 55° (B) 47.5°

(C) 60° (D) 30°

93. ehfVªd pwM+h ds fy, pwM+h dk dks.k D;k gS\
(A) 30° (B) 47.5°

(C) 60° (D) 55°

94. pwM+h ds izdkj ftlea ncko izlkj.k ds nkSjku pwM+h
ls ,d fn”kk esa dk;Z djrk gS mldk uke D;k gS%
(A) iq”rk pwM+h (B) uDdy pwM+h
(C) ,Des pwM+h (D) ehfVªd ,des pwM+h

95. iaq”rk pwM+hs dk dks.k D;k gksrk gS%
(A) 30° (B) 45°

(C) 47.5° (D) 60°

96. cgqpkSdksj pwM+h esa “kq:vkr esa fdrus pwM+hs gksrs gS%
(A) ,d “kq:vkrh pwM+h
(B) nks “kq:vkrh pwM+h
(C) rhu “kq:vkrh pwM+h
(D) ,Des rhu “kq:vkrh pwM+h

97. ehfVªd ,des pwM+hs dk dks.k D;k gksrk gS%
(A) 60° (B) 50°

(C) 40° (D) 30°
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98. To avoid damage of the corners the face of
hexagonal bolt chamfering is given at an angle of :
(A) 30° (B) 45°
(C) 60° (D) 25°

99. Name the type of bolt used in the assembly
drawing:
(A) Cup head bolt
(B) T-head bolt
(C) Tap bolt or cap screw
(D) Square head bolt

100. Name the nut whose movement is prevented by a
plate with grooves to suit the hut and plate is screwed
down to the body by set screw :
(A) Cap nut
(B) Dome nut
(C) Cylindrical nut

(D) Locking by locking plate or stop plate

98. dksuks dks {kfr ls cpkus ds fy, gsDlkxksuy cksYV
dk dks.k fdruk j[kk tkrk gS%
(A) 30° (B) 45°
(C) 60° (D) 25°

99. tksMus dh Mªkbax esa bLrseky cksYV ds izdkj dk
uke D;k gS %
(A) di gSM cksYV
(B) Vh gSM cksYV
(C) uy cksYV ;k Vksih isap
(D) oxZ gSM cksYV

100. uV ftldh izfrfØ;k dks Hkkyh esa ,d lsV Vksap ds
lkFk j[kk tkrk gS mldk uke D;k gS%
(A) Vksih uV
(B) xqacn uV
(C) xksy uV
(D) izsV ij jksd can djds rkyk yxkuk
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PART-I MATHS

1. Which natural number nearest to 9216, which is

completely divisible by 88?

(A) 9230 (B) 9236

(C) 9240 (D) 9250

2. The ratio of age of a father to that of his son is

5 : 2. If the product of their ages in years is 1000,

then the father’s age (in years) after 10 years will

be :

(A) 50 (B) 60

(C) 45 (D) 55

3. If 
2

1
sin  , then cos = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

4.
2

1

2

1 









 is equal to :

(A) 2 (B) - 2

(C) 1 (D)
2

1

5. If the cost price of an article is 60% of its selling

price, the profit percent is :

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%

6. Ramesh’s salary is 25% more than sohan’s salary.

Sohan’s salary is how much less than Ramesh’s

salary?

(A) 24% (B) 27.5%

(C) 20% (D) 25%

7. The H.C.F. of two number is 96 and their L.C.M. is

1296. If one of the numbers is 864, the other is :

(A) 148 (B) 144

(C) 196 (D) 156

1. 9216 ds fudVre og dkSu&lh izkÑr la[;k gS tks
88 ls iw.kZr% foHkkftr gS?
(A) 9230 (B) 9236

(C) 9240 (D) 9250

2. firk rFkk iq= dh vk;q dk vuqikr 5 : 2 gSA ;fn
nksuksa dh vk;q dk xq.kuQy o’kksZ esa 1000 gS] rks firk
dh vk;q (o’kZ esa) 10 o’kZ ckn fdruh gksxh \
(A) 50 (B) 60

(C) 45 (D) 55

3. ;fn 
2

1
sin  , gks rks cos  = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

4.
2

1

2

1 









 dk eku gS%

(A) 2 (B) - 2

(C) 1 (D)
2

1

5. ;fn fdlh oLrq dk Ø; ewY; mlds foØ; ewY; dk
60% gS rks ykHk % fdruk gS \

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%

6. jes”k dk osru lksgu ds osru ls 25% vf/kd gS rks
lksgu dk osru jes”k ds osru ls fdruk izfr”kr de
gS\
(A) 24% (B) 27.5%

(C) 20% (D) 25%

7. nks la[;kvksa dk e0l0 96 gS rFkk mudk y0l0 1296

gSA ;fn muesa ls ,d la[;k 864 gS rks nwljh la[;k
gS%
(A) 148 (B) 144

(C) 196 (D) 156
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8. Øfed cêksa 20%, 25%, rFkk 10% ds lerqY; ,dy
cêk gS:
(A) 40% (B) 44%

(C) 54% (D) 46%

9. 6 cm Hkqtk,¡ ckys leckgq f=Hkqt ds var%òr dk {ks=Qy
fdruk gS\

(A)
2


  oxZ lseh (B) 3   Sq cm

(C) 6   Sq cm (D) 3   Sq cm

10. 800 dk 40 izfr”kr $ 400 dk 20 izfr”kr cjkcj gS ?
(A) 160 (B) 400

(C) 280 (D) 320

11. nks la[;kvkssa dk vuqikr 3 : 5. gSA ;fn izR;sd la[;k
esa ls 9 ?kVk fn;k tk; rks vuqikr 12 : 23, gks tkrk
gS cM+h la[;k Kkr dhft;s %
(A) 55 (B) 115

(C) 69 (D) 28

12. rhu yxkrkj fo’ke la[;vksa ds oxksZ dk ;ksx 2531

gSA rks lcls NksVh la[;k Kkr dhft;s%
(A) 23 (B) 25

(C) 27 (D) 29

13. 679 x 671 x 56 x 5 dk bZdkbZ vad D;k gS ?
(A) 0 (B) 1

(C) 4 (D) 6

14. ;fn 14 x x = 1050, gks rks 4 x dk eku D;k gS?
(A) 100 (B) 200

(C) 300 (D) 400

15. ;fn (64)2 - (36)2 = 10 x x, rks x = ?

(A) 280 (B) 140

(C) 70 (D) 35

8. The single discount which is equal to successive

discounts of 20%, 25%, and 10% is :

(A) 40% (B) 44%

(C) 54% (D) 46%

9. Area of the incircle of an equidateral triangle with

side 6 cm is :

(A)
2


 Sq cm (B) 3  Sq cm

(C) 6   Sq cm (D) 3  Sq cm

10. 40% of 800 + 20% of 400 = ?

(A) 160 (B) 400

(C) 280 (D) 320

11. The numbers are in the ratio of 3 : 5. If 9 be

subtracted from each, then they are in the ratio of

12 : 23, find the bigger number :

(A) 55 (B) 115

(C) 69 (D) 28

12. The sum of the squares of three consecutive odd

numbers is 2531. Find the smallest number:

(A) 23 (B) 25

(C) 27 (D) 29

13. What is the unit place digit of 679 x 671 x 56 x 5 ?

(A) 0 (B) 1

(C) 4 (D) 6

14. If 14 x x = 1050, Then 4 x = ?

(A) 100 (B) 200

(C) 300 (D) 400

15. If (64)2 - (36)2 = 10 x x, then x = ?

(A) 280 (B) 140

(C) 70 (D) 35
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16. Curie is a unit of :

(A) Radio activity (B) Energy

(C) Heat (D) Temperature

17. If the momentum of a body is increased by 50%. its

K.E. will increase by :

(A) 100% (B) 125%

(C) 200% (D) 150%

18. Cooking will take longest time at :

(A) Sea level (B) Manali

(C) Mount  Everest (D) Delhi

19. The loudness of sound depends upon :

(A) Pitch (B) Amplitude

(C) Wavelength (D) Velocity

20. The conductivity of superconductor is :

(A) Very large (B) Very small

(C) Infinite (D) Zero

21. 1 amu is equal to :

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

22. How many neutrons are there in an atom of

hydrogen  ?

(A) One (B) Zero

(C) Two (D) Three

23. Which of the following has highest frequency?

(A) Cosmic rays (B) X-rays

(C) Radio waves (D) Microwaves

24. The compound which has covalent bond is :

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O

PART-I SCIENCE

16. ^D;wjh^ fdldh bZdkbZ gS\

(A) jsfM;ksfDVfoVh (B) ÅtkZ

(C) m’ek (D) rki

17. ;fn fdlh oLrq dk vkosx 50% c<+k fn;k tk, rks

mldh {kfrt ÅtkZ fdruh c<+ tk,xh \

(A) 100% (B) 125%

(C) 200% (D) 150%

18. dgk¡ [kkuk cukus esa lcls T;knk le; yxsxk\

(A) leqnz&ry ij (B) eukyh esa

(C) ekmaV ,ojsLV ij (D) fnYyh esa

19. vkokt dh izcyrk fdl ij fuHkZj djrh gS\

(A) Lojeku (B) vk;ke

(C) rjaxnS/;Z (D) osx

20. vfrpkyd dh (pkydrk) fdruh gksrh gS\

(A) cgqr vf/kd (B) cgqr de

(C) vuUr (D) “kwU;

21. 1 ,0,e0;w0 cjkcj gksrk gS%

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

22. gkbMªkstu ds v.kq esa fdrus U;wVªkWu gksrs gS\

(A) ,d (B) “kwU;

(C) nks (D) rhu

23. fuEu esa ls fdldh lcls vf/kd vko`fr gksrh gS\

(A) dkWfLed fdj.ksa (B) X-fdj.ksa

(C) jsfM;ksa rjax (D) “kw{erjaxs

24. fdl ;kSfxd esa lg&la;kstd ca/ku gS\

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O
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25. The colour of hydrogen is :

(A) Yellow (B) Colourless

(C) Red (D) Orange

26. Who is  known as father of Biology?

(A) Aristotle (B) Darwin

(C) Lamark (D) Purkenja

27. Which of the following gas is not known as green

house gas?

(A) Methane (B) Carbon dioxide

(C) Nitrous Oxide (D) Hydrogen

28. Which method of water purification does not kill

microorganism:

(A) Boiling (B) Filtration

(C) Chlorination (D) UV-irradiation

29. Chlorofluro carbons are widely used in :

(A) Solar heaters (B) Refrigerators

(C) Washing machine (D) Microovens

30. Light year is a unit of :

(A) Distance (B) Speed of light

(C) Speed (D) Time

25. gkbMªkstu dk jax gksrk gS%

(A) ihyk (B) jaxghu

(C) yky (D) ukjaxh

26. tho foKku ds firk ds :i esa fdls tkuk tkrk gS\

(A) vjLrq (B) Mkjfou

(C) ykedZ (D) iqdsZtk

27. fuEu esa ls dkSu&lh gfjr xSal ugh gS\

(A) feFksu (B) dkcZu MkbD¡lkbM

(C) ukbVªl vkWDlkbM (D) gkbMªkstu

28. ty “kq)hdj.k ds fdl rjhds ls lwPethoh ugha

ejrs \

(A) mckyuk (B) fuL;anu

(C) Dyksjhfudj.k (D) ;w0oh0&foHkklu

29. Dyksjks¶yksjka dkcZu dk izeq[kr% fdles bLrseky gksrk

gS%

(A) lksyj ghVj (B) jsfÝtjsVj

(C) okf”kax e”khu (D) ekbØks vksosu

30. ^izdk”k o’kZ^ fdldh bZdkbZ gS \

(A) nwjh dh (B) izdk”k ds xfr dh

(C) xfr dh (D) le; dh
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Direction (31 - 33) : In each of the following questions,

out of the four alternatives, Choose the one which

best expresses the meaning of the given word as

your anser :

31. Periodic

(A) Continuous (B) Regular

(C) Occasional (D) Infrequent

32. Gruesome

(A) Sullen (B) Hideous

(C) Exhausting (D) Insulting

33. Solitary

(A) Idle (B) Lost

(C) Lonely (D) Quiet

Direction (34-36) : In the following questions, choose the

word opposite in meaning to the given word as your

answer :

34. Knack

(A) Talent (B) Dullness

(C) Dexterity (D) Balance

35. Pernicious

(A) Prolonged (B) Ruinous

(C) Ruthless (D) Beneficial

36. Flippant

(A) Shallow (B) Serious

(C) Strong (D) Successful

Direction (37-39) : In the following questions fill in the

blanks with appropriate preposition :

37. The calculator is ........... the table :

(A) on (B) in

(C) upon (D) above

38. Sohan travelled .............. train :

(A) in (B) by

(C) on (D) into

PART-I ENGLISH

39. He should take care ................ his health :

(A) of (B) on

(C) to (D) for

Direction (40-41) : In the following questions, out of the

four alternatives choose the one which can be

substituted for the given words/sentence :

40. An assembly of worshippers :

(A) Configuration (B) Confrontation

(C) Congregation (D) Conflagration

41. A medicine to nullify the effect of poison :

(A) Antidote (B) Anticlimax

(C) Antibody (D) Antigen

Direction (42-45) : In each of the following question, some

part of the sentences have errors and some have

none. Find out which part of a sentence has an

error. If a sentence is free from error then your

answer is (D).

42. (A) All oranges (B) in the basket

(C) are over-ripe (D) No error

43. (A) They

(B) have to return back

(C) immediatyely

(D) No error

44. (A) Rabindra lost

(B) a hundred rupees note

(C) yesterday

(D) No error

45. (A) I and Rani will (B) go to the market

(C) in the evening (D) No error
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46. Which one of the following is the world’s largest

desert ?

(A) Sahara (B) Thar

(C) Kalahari (D) Jaisalmer

47. Which of the following is not a Union Territory?

(A) Lakshadweep (B) Pondicherry

(C) Nagaland (D) Daman & Diu

48. The kharif crops are harvested in :

(A) June-July (B) October-November

(C) May-June (D) March-April

49. Which one of the following is a wildlife Sanctuary?

(A) Shimla (B) Corbett

(C) Champahari (D) Gorumara

50. ‘Yellow Revolution’ is associated with :

(A) Gold (B) Oil seeds

(C) Sunflower (D) Poultry

51. ’Kesri’ Newspaper was started by:

(A) G.K. Gokhale

(B) B.G.Tilak

(C) Sardar Patel

(D) Raja Ram Mohan Roy

52. Who among the following was NOT a physician?

(A) Sushruta (B) Charaka

(C) Charvaka (D) Dhanvantari

53. How many players are there in a football team ?

(A) 11 (B) 10

(C) 9 (D) 8

PART-I GENERAL KNOWLEDGE AND AWARENESS

46. fo”o dk fuEufyf[kr esa ls lcls cM+k e:LFky dkSu

gS\

(A) lgkjk (B) Fkkj

(C) dkykgkjh (D) tSlyesj

47. fuEu esa ls dkSu&lk dsUnz ”kkflr izns”k ugh gS\

(A) y{k}hi (B) ikafMpsjh

(C) ukxkySaM (D) neu ,oa nhi

48. [kjhQ Qly dh dVkbZ dc gksrh gS\

(A) twu&tqykbZ (B) vDVwcj&uoEcj

(C) ebZ&twu (D) ekpZ^vizSy

49. fuEu esa ls dkSu ^oU; tho vHk;kj.;^ gS%

(A) f”keyk (B) dkWcsZV

(C) pEikgkjh (D) xks:ekjk

50. ^ihyh Økafr% fdlls lEcfU/kr gS \

(A) lksuk (B) rsygu

(C) lw;Zew[kh (D) eqxhZ ikyu

51. ^dsljh^ lekpkji= dh “kq:vkr fdlus dh Fkh \

(A) th0 ds0 xks[kys

(B) ch0th0 fryd

(C) ljnkj iVsy

(D) jktkjke eksgu jk;

52. fuEu esa ls dkSu fpfdRld ugha Fkk\

(A) lqJqr (B) pjd

(C) pokZd (D) /kuoarjh

53. QqVckWy Vhe esa fdrus f[kykM+h gksrs gS\

(A) 11 (B) 10

(C) 9 (D) 8
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54. What is the national game of Canada?

(A) Ice Hockey (B) Football

(C) Baseball (D) Rugby

55. Where is Airforce academy situated?

(A) Jalahalli (B) Hyderabad

(C) Bangalore (D) Pune

56. When is ‘Bihar Diwas’ celebrated?

(A) June 22 (B) March 22

(C) August 22 (D) July 22

57. Who among the following is the present Finance

Minister of India?

(A) Suresh Prabhu (B) Arun Jaitley

(C) Sushama Swaraj (D) Mahesh Sharma

58. Who is the Present Chief of ISRO?

(A) A. S. Kiran Kumar

(B) Madhavan Nair

(C) S. Reddy

(D) M. Arvindan

59. Typhoid fever is caused by :

(A) Bacteria (B) Virus

(C) Protozoa (D) Fungi

60. National bird of India is :

(A) Parrot (B) Peacock

(C) Crow (D) Pigeon

54. dukMk dk jk’Vªh; [ksy D;k gS%

(A) vkbl gkWdh (B) QqVckWy

(C) oslckWy (D) jXch

55. ,;jQkslZ vdkneh dgk¡ fLFkr gS\

(A) tykgyh (B) gSnjkckn

(C) caxyksj (D) iw.ks

56. ^fcgkj fnol^ dc euk;k tkrk gS\

(A) twu 22 (B) ekpZ 22

(C) vxLr 22 (D) tqykbZ 22

57. Hkkjr dk orZeku foÙkea=h fuEufyf[kr esa ls dkSu

gS \

(A) lqjs”k izHkq (B) v:.k tsVyh

(C) lq’kek Lojkt (D) egs”k “kekZ

58. (ISRO) bljks ds oÙkZeku izeq[k dkSu gS\

(A) ,0,l0 fdj.k dqekj

(B) ek/kou uk;j

(C) ,l0 jsìh

(D) ,e0 vjfoUnu

59. VkbQk;M cq[kkj dk dkj.k gS%

(A) cSfDVjh;k (B) fc’kk.kq

(C) izksVkstksvk (D) Qaxh

60. Hkkjr dk jk’Vªh; i{kh gS %

(A) rksrk (B) eksj

(C) dkSvk (D) dcwrj
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PART-II PROFESSIONAL KNOWLEDGE

61. What is the angle of inclined letter to be drawn

through right side?

(A) 75° (B) 60°

(C) 30° (D) 15°

62. What is the minimum spacing between words in type.

A standard of lettering?

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

63. Letters are designated by their :

(A) Bottom width (B) Thickness of stroke

(C) Top width (D) Height

64. What is the standard width of capital letter M in

terms of thickness d?

(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

65. Which one is a method of dimensioning :

(A) Horizontal system

(B) Vertical system

(C) Aligned system

(D) Allen system

66. The recommended method of dimensioning a

sphere with diameter 20 mm is :

(A) 20  s (B)  20 s

(C) s 20 (D) s 20

67. Choose which one R.F. represents reduced scale

drawing?

(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

68. Name the scale on the principle of similar triangle :

(A) Enlarged scale (B) Plain scale

(C) Reduced scale (D) Diagonal scale

61. tks v{kj frjNs j[ks tkrs gS mudk dks.k D;k gksrk
gS\
(A) 75° (B) 60°

(C) 30° (D) 15°

62. VkbZi ‘A’ LVsaMMZ esa nks v{kjksa ds chp esa fdruk xsi
j[kk tkrk gS%

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

63. v{kj dSls cuk, tkrs gS%
(A) uhps dh pkSM+kbZ ij (B) v{kj dh eksVkbZ ij
(C) Åij dh pkSM+kbZ ij (D) yEckbZ ij

64. lk/kkj.k pkSM+kbZ M dh eksVkbZ d ds {ks= esa D;k gS\
(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

65. MkbeSu”kfuax ds eSFkM dkSu&dkSu ls gksrs gS %
(A) gkfjtkuVy flLVe
(B) ofVZdy flLVe
(C) ,ykbUM flLVe
(D) ,Sfyu flLVe

66. LQs;j dh MkbZeS”kfuax ds Mk;ehVj 20 mm dks dSls
fy[kk tkrk gS\
(A) 20  s (B)  20 s

(C) s 20 (D) s 20a

67. R.F. dks fjM;wlM Ldsy ij dSls fMuksV fd;k tkrk
gS%
(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

68. f=dks.k ds fl)kar dk iSekuk fdl ij vk/kkfjr gS%
(A) cM+s iSekus (B) lkns iSekus
(C) de iSekus (D) fod.kZ iSekus
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69. Name the type of scale used to measure 3.88 metres:

(A) Plain scale (B) Reduced scale

(C) Diagonal scale (D) Enlarged scale

70. If the actual length of line 50 mm is drawn to a

length 10 mm, which is the ratio followed:

(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2

71. Triangle is a closed plane figure having .............no.

of sides and .............no. of angles :

(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

72. Name the triangle whose sides are equal :

(A) Equilateral triangle (B) Right angled triangle

(C) Scalene triangle (D) Isosceles triangle

73. Quardrilateral has ....... sides and angles:

(A) 3 (B) 5

(C) 4 (D) 6

74. In a rectangle, opposite sides are equal and

parallel and all four angles are :

(A) Acute (B) Obtuse

(C) More than 90° (D) Right angled

75. The distance from the centre to any point on the

circumference of the circle is called :

(A) Diameter (B) Radius

(C) Chord (D) Sector

76. In a rhombus how many sides are equal ?

(A) 1 (B) 2

(C) 3 (D) 4

77. Part of circle with radii making 90° with each other

is called as :

(A) Arc (B) Internal thread

(C) Segment (D) Quadrant

78. Thread formed outside of a shaft are called :

(A) External thread (B) Internal thread

(C) Right hand thread (D) Left hand thread

69. 3-88 eh ekius ds fy, bLrseky iSekus ds izdkj dk
uke D;k gS\
(A) lkns iSekus (B) de iSekus
(C) fod.kZ iSekus (D) cM+s iSekus

70. ;fn 50mm dh okLrfod yackbZ 10mm dj nh tk,
rks ml D;k dgrs gS\
(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2

71. f=Hkqt tks ,d can lrg gS mlds vkdM+ks vkSj d.kksa
fd la[;k D;k gS\
(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

72. f=Hkqt ftldh nks i+{k cjkcj gksrs gS mls D;k dgrs
gS\
(A) cjkcj f=Hkqt (B) lgh dks.k f=Hkqt
(C) fo’keukgq f=Hkqt (D) lef)ckgq f=Hkqt

73. prqHkZt ds fdrus i{k vkSj dks.k gksrs gS\
(A) 3 (B) 5

(C) 4 (D) 6

74. ,d vk;r es fojks/kh i{k cjkcj vkSj leku gksrs gS rks
muds pkjks dks.k dSls gksrs gS\
(A) rhoz (B) dqfBr
(C) 90° ls T;knk (D) lh/ks dks.k

75. o`r dh ifj/kh ij fdlh Hkh eqn~ns ij dsUnz ls nwjh dks
D;k dgrs gS%
(A) O;kl (B) f=T;k
(C) T;k (D) {ks=

76. fo’kedks.k ds fdrus i{k cjkcj gksrs gS%
(A) 1 (B) 2

(C) 3 (D) 4

77. ,d nwljs fd f=T;k ds lkFk 90° dk dks.k cukrs gS
rks mls D;k dgrs gS\
(A) pki (B) vUn:uh T;k
(C) [kaMsa (D) mYVs gkFk dk /kkxk

78. vxj ,d “kk¶V ds ckgj ij ,d xfBr pwM+h gS rks
mls D;k dgk tkrk gS%
(A) ckgjh /kkxk (B) vUnz:uh /kkxk
(C) lh/ks gkFk dk /kkxk (D) myVs gkFk dk /kkxk
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79. Which type of threads are used in power press,

carpentry vice, ratchets:

(A) Knuckle thread

(B) Acme thread

(C) Buttress thread

(D) BSW thread

80. Name the element of external thread :

(A) Creast (B) Root

(C) Flank (D) Pitch

81. Name the element of internal thread :

(A) Pitch (B) Root

(C) Flank (D) Crest

82. What is the angle in british assosiation method :

(A) 55° (B) 47.5°

(C) 60° (D) 30°

83. What is the thread angle for metric threads :

(A) 30° (B) 47.5°

(C) 60° (D) 55°

84. Name the type of thread in which pressure acts at

one flank of the thread during transmission :

(A) Buttress thread (B) Knuckle thread

(C) Acme thread (D) Metric acme thread

85. What is the angle of buttress thread :

(A) 30° (B) 45°

(C) 47.5° (D) 60°

86. How many starts of thread are there in the multisquare

thread :

(A) Single start thread

(B) Double start thread

(C) Triple start thread

(D) Acme triple start thread

87. The metric acme thread has an angle of ......... :

(A) 60° (B) 50°

(C) 40° (D) 30°

79. /kkxs dk tks izdkj fctyh izsl] c<+bZxhjh esa iz;ksx
fd;k tkrk gS mls D;k dgrs gS%
(A) uDdy /kkxk
(B) ,Des /kkxk
(C) i”rk /kkxk
(D) ch,lMCyw /kkxk

80. ckgjh pwM+h ds rRo dk uke D;k gS%
(A) f”k[kk (B) tM+
(C) fn”kk (D) fip

81. vUnz:uh pwM+h ds rRo dk uke %
(A) fip (B) tM+
(C) fn”kk (D) f”k[kk

82. fczfV”k laXBu esa dks.k dh fof/k D;k gS\
(A) 55° (B) 47.5°

(C) 60° (D) 30°

83. ehfVªd pwM+h ds fy, pwM+h dk dks.k D;k gS\
(A) 30° (B) 47.5°

(C) 60° (D) 55°

84. pwM+h ds izdkj ftlea ncko izlkj.k ds nkSjku pwM+h
ls ,d fn”kk esa dk;Z djrk gS mldk uke D;k gS%
(A) iq”rk pwM+h (B) uDdy pwM+h
(C) ,Des pwM+h (D) ehfVªd ,des pwM+h

85. iaq”rk pwM+hs dk dks.k D;k gksrk gS%
(A) 30° (B) 45°

(C) 47.5° (D) 60°

86. cgqpkSdksj pwM+h esa “kq:vkr esa fdrus pwM+hs gksrs gS%
(A) ,d “kq:vkrh pwM+h
(B) nks “kq:vkrh pwM+h
(C) rhu “kq:vkrh pwM+h
(D) ,Des rhu “kq:vkrh pwM+h

87. ehfVªd ,des pwM+hs dk dks.k D;k gksrk gS%
(A) 60° (B) 50°

(C) 40° (D) 30°
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88. To avoid damage of the corners the face of
hexagonal bolt chamfering is given at an angle of :
(A) 30° (B) 45°
(C) 60° (D) 25°

89. Name the type of bolt used in the assembly
drawing:
(A) Cup head bolt
(B) T-head bolt
(C) Tap bolt or cap screw
(D) Square head bolt

90. Name the nut whose movement is prevented by a
plate with grooves to suit the hut and plate is screwed
down to the body by set screw :
(A) Cap nut
(B) Dome nut
(C) Cylindrical nut

(D) Locking by locking plate or stop plate

91. The head (stock) of T-square is made out of....... :

(A) Wood/Celluloid (B) Metallic Platc

(C) Hard board (D) Ceramic material

92. Protractor is used to draw :

(A) Line (B) Measure angle

(C) Various shape (D) Regular shape

93. The set square are made up straight surface :

(A) 3 (B) 4

(C) 5 (D) None of these

94. What is the material of high grade drawing

instrument :

(A) Cadmium (B) Nickel

(C) Aluminimum (D) Stainles steel

95. Which type of compass is used for dividing?

(A) Large compass (B) Small compass

(C) Medium compass (D) Beam compass

96. Angle at a point is ...................... :

(A) 90° (B) 180°

(C) 270° (D) 360°

88. dksuks dks {kfr ls cpkus ds fy, gsDlkxksuy cksYV
dk dks.k fdruk j[kk tkrk gS%
(A) 30° (B) 45°
(C) 60° (D) 25°

89. tksMus dh Mªkbax esa bLrseky cksYV ds izdkj dk
uke D;k gS %
(A) di gSM cksYV
(B) Vh gSM cksYV
(C) uy cksYV ;k Vksih isap
(D) oxZ gSM cksYV

90. uV ftldh izfrfØ;k dks Hkkyh esa ,d lsV Vksap ds
lkFk j[kk tkrk gS mldk uke D;k gS%
(A) Vksih uV
(B) xqacn uV
(C) xksy uV
(D) izsV ij jksd can djds rkyk yxkuk

91. Vh LDok;j dk gSM LDos;j fdlls feydj curk gS\
(A) ydM+h (B) /kkrq dh IysV ls
(C) dBksj r[rk (D) phuh feV~Vh ls

92. izdkj dk iz;ksx D;k gksrk gS%
(A) ykbu (B) mik; ds dks.k
(C) fofHkUu vkdkj (D) leku vkdkj

93. lsV LDos;j dh lh/kh lrg ds fdrus Hkkx gksrk gS%
(A) 3 (B) 4

(C) 5 (D) mijksä esa ls dksbZ ugh

94. MjkbZax bULVwesaV ckDl esa gkbZ xszM leku dkSu lk gS%
(A) daMfe;e (B) fuDdy
(C) ,syqfefu;e (D) LVsuysl LVhy

95. fMokfMax ds fy, dkSu lk izdkj iz;ksx esa yk;k
tkrk gS\
(A) cM+h izdkj (B) NksVk izdkj
(C) e/;e izdkj (D) che izdkj

96. dks.k dk fcUnq fdruk gksrk gS\
(A) 90° (B) 180°

(C) 270° (D) 360°
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97. We obtain 180° in :

(A) Reflex angle (B) Adjacent angle

(C) Straight angle (D) Complementary angle

98. Which one of the following is more durable material

for scale?

(A) Wood (B) Ivory

(C) Cellculoid/plastic (D) Stainless steel

99. What is the length and breadth ratio of a drawing

paper?

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

100. Which of the following pencil lead is softest?

(A) 7 B grade (B) 6 B grade

(C) 5 B grade (D) 4 B grade

97. 180° dk dks.k fdrus ij curk gS\
(A) fjQysDl dks.k (B) ,sMtSlsaV dks.k
(C) lh/kk dks.k (D) dkEiyheSUVªh dks.k

98. dkSu lk ekiuh lcls T;knk etcwr gksrk gS\
(A) ydM+h (B) bZoksjh
(C) IyflfVd (D) LVsuySl LVhy

99. Ao dkxt dh yackbZ % pkSM+kbZ dk vuqikr D;k gS\

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

100. dkSu lh iSflay fd uksd lk¶V gksrh gS\
(A) 7 B xzsM (B) 6 B xzsM
(C) 5 B xzsM (D) 4 B xzsM
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PART-I MATHS
1. If the cost price of an article is 60% of its selling

price, the profit percent is :

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%

2. Ramesh’s salary is 25% more than sohan’s salary.

Sohan’s salary is how much less than Ramesh’s

salary?

(A) 24% (B) 27.5%

(C) 20% (D) 25%

3. The H.C.F. of two number is 96 and their L.C.M. is

1296. If one of the numbers is 864, the other is :

(A) 148 (B) 144

(C) 196 (D) 156

4. The single discount which is equal to successive

discounts of 20%, 25%, and 10% is :

(A) 40% (B) 44%

(C) 54% (D) 46%

5. Area of the incircle of an equidateral triangle with

side 6 cm is :

(A)
2


 Sq cm (B) 3  Sq cm

(C) 6   Sq cm (D) 3  Sq cm

6. 40% of 800 + 20% of 400 = ?

(A) 160 (B) 400

(C) 280 (D) 320

7. The numbers are in the ratio of 3 : 5. If 9 be

subtracted from each, then they are in the ratio of

12 : 23, find the bigger number :

(A) 55 (B) 115

(C) 69 (D) 28

1. ;fn fdlh oLrq dk Ø; ewY; mlds foØ; ewY; dk
60% gS rks ykHk % fdruk gS \

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%

2. jes”k dk osru lksgu ds osru ls 25% vf/kd gS rks
lksgu dk osru jes”k ds osru ls fdruk izfr”kr de
gS\
(A) 24% (B) 27.5%

(C) 20% (D) 25%

3. nks la[;kvksa dk e0l0 96 gS rFkk mudk y0l0 1296

gSA ;fn muesa ls ,d la[;k 864 gS rks nwljh la[;k
gS%
(A) 148 (B) 144

(C) 196 (D) 156

4. Øfed cêksa 20%, 25%, rFkk 10% ds lerqY; ,dy
cêk gS:
(A) 40% (B) 44%

(C) 54% (D) 46%

5. 6 cm Hkqtk,¡ ckys leckgq f=Hkqt ds var%òr dk {ks=Qy
fdruk gS\

(A)
2


  oxZ lseh (B) 3   Sq cm

(C) 6   Sq cm (D) 3   Sq cm

6. 800 dk 40 izfr”kr $ 400 dk 20 izfr”kr cjkcj gS ?

(A) 160 (B) 400

(C) 280 (D) 320

7. nks la[;kvkssa dk vuqikr 3 : 5. gSA ;fn izR;sd la[;k

esa ls 9 ?kVk fn;k tk; rks vuqikr 12 : 23, gks tkrk

gS cM+h la[;k Kkr dhft;s %

(A) 55 (B) 115

(C) 69 (D) 28
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8. rhu yxkrkj fo’ke la[;vksa ds oxksZ dk ;ksx 2531

gSA rks lcls NksVh la[;k Kkr dhft;s%
(A) 23 (B) 25

(C) 27 (D) 29

9. 679 x 671 x 56 x 5 dk bZdkbZ vad D;k gS ?
(A) 0 (B) 1

(C) 4 (D) 6

10. ;fn 14 x x = 1050, gks rks 4 x dk eku D;k gS?
(A) 100 (B) 200

(C) 300 (D) 400

11. ;fn (64)2 - (36)2 = 10 x x, rks x = ?

(A) 280 (B) 140

(C) 70 (D) 35

12. 9216 ds fudVre og dkSu&lh izkÑr la[;k gS tks
88 ls iw.kZr% foHkkftr gS?
(A) 9230 (B) 9236

(C) 9240 (D) 9250

13. firk rFkk iq= dh vk;q dk vuqikr 5 : 2 gSA ;fn
nksuksa dh vk;q dk xq.kuQy o’kksZ esa 1000 gS] rks firk
dh vk;q (o’kZ esa) 10 o’kZ ckn fdruh gksxh \
(A) 50 (B) 60

(C) 45 (D) 55

14. ;fn 
2

1
sin  , gks rks cos  = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

15.
2

1

2

1 









 dk eku gS%

(A) 2 (B) - 2

(C) 1 (D)
2

1

8. The sum of the squares of three consecutive odd

numbers is 2531. Find the smallest number:

(A) 23 (B) 25

(C) 27 (D) 29

9. What is the unit place digit of 679 x 671 x 56 x 5 ?

(A) 0 (B) 1

(C) 4 (D) 6

10. If 14 x x = 1050, Then 4 x = ?

(A) 100 (B) 200

(C) 300 (D) 400

11. If (64)2 - (36)2 = 10 x x, then x = ?

(A) 280 (B) 140

(C) 70 (D) 35

12. Which natural number nearest to 9216, which is

completely divisible by 88?

(A) 9230 (B) 9236

(C) 9240 (D) 9250

13. The ratio of age of a father to that of his son is

5 : 2. If the product of their ages in years is 1000,

then the father’s age (in years) after 10 years will

be :

(A) 50 (B) 60

(C) 45 (D) 55

14. If 
2

1
sin  , then cos = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

15.
2

1

2

1 









 is equal to :

(A) 2 (B) - 2

(C) 1 (D)
2

1
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16. The conductivity of superconductor is :

(A) Very large (B) Very small

(C) Infinite (D) Zero

17. 1 amu is equal to :

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

18. How many neutrons are there in an atom of

hydrogen  ?

(A) One (B) Zero

(C) Two (D) Three

19. Which of the following has highest frequency?

(A) Cosmic rays (B) X-rays

(C) Radio waves (D) Microwaves

20. The compound which has covalent bond is :

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O

21. The colour of hydrogen is :

(A) Yellow (B) Colourless

(C) Red (D) Orange

22. Who is  known as father of Biology?

(A) Aristotle (B) Darwin

(C) Lamark (D) Purkenja

23. Which of the following gas is not known as green

house gas?

(A) Methane (B) Carbon dioxide

(C) Nitrous Oxide (D) Hydrogen

24. Which method of water purification does not kill

microorganism:

(A) Boiling (B) Filtration

(C) Chlorination (D) UV-irradiation

PART-I SCIENCE

16. vfrpkyd dh (pkydrk) fdruh gksrh gS\

(A) cgqr vf/kd (B) cgqr de

(C) vuUr (D) “kwU;

17. 1 ,0,e0;w0 cjkcj gksrk gS%

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

18. gkbMªkstu ds v.kq esa fdrus U;wVªkWu gksrs gS\

(A) ,d (B) “kwU;

(C) nks (D) rhu

19. fuEu esa ls fdldh lcls vf/kd vko`fr gksrh gS\

(A) dkWfLed fdj.ksa (B) X-fdj.ksa

(C) jsfM;ksa rjax (D) “kw{erjaxs

20. fdl ;kSfxd esa lg&la;kstd ca/ku gS\

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O

21. gkbMªkstu dk jax gksrk gS%

(A) ihyk (B) jaxghu

(C) yky (D) ukjaxh

22. tho foKku ds firk ds :i esa fdls tkuk tkrk gS\

(A) vjLrq (B) Mkjfou

(C) ykedZ (D) iqdsZtk

23. fuEu esa ls dkSu&lh gfjr xSal ugh gS\

(A) feFksu (B) dkcZu MkbD¡lkbM

(C) ukbVªl vkWDlkbM (D) gkbMªkstu

24. ty “kq)hdj.k ds fdl rjhds ls lwPethoh ugha

ejrs \

(A) mckyuk (B) fuL;anu

(C) Dyksjhfudj.k (D) ;w0oh0&foHkklu
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25. Chlorofluro carbons are widely used in :

(A) Solar heaters (B) Refrigerators

(C) Washing machine (D) Microovens

26. Light year is a unit of :

(A) Distance (B) Speed of light

(C) Speed (D) Time

27. Curie is a unit of :

(A) Radio activity (B) Energy

(C) Heat (D) Temperature

28. If the momentum of a body is increased by 50%. its

K.E. will increase by :

(A) 100% (B) 125%

(C) 200% (D) 150%

29. Cooking will take longest time at :

(A) Sea level (B) Manali

(C) Mount  Everest (D) Delhi

30. The loudness of sound depends upon :

(A) Pitch (B) Amplitude

(C) Wavelength (D) Velocity

25. Dyksjks¶yksjka dkcZu dk izeq[kr% fdles bLrseky gksrk

gS%

(A) lksyj ghVj (B) jsfÝtjsVj

(C) okf”kax e”khu (D) ekbØks vksosu

26. ^izdk”k o’kZ^ fdldh bZdkbZ gS \

(A) nwjh dh (B) izdk”k ds xfr dh

(C) xfr dh (D) le; dh

27. ^D;wjh^ fdldh bZdkbZ gS\

(A) jsfM;ksfDVfoVh (B) ÅtkZ

(C) m’ek (D) rki

28. ;fn fdlh oLrq dk vkosx 50% c<+k fn;k tk, rks

mldh {kfrt ÅtkZ fdruh c<+ tk,xh \

(A) 100% (B) 125%

(C) 200% (D) 150%

29. dgk¡ [kkuk cukus esa lcls T;knk le; yxsxk\

(A) leqnz&ry ij (B) eukyh esa

(C) ekmaV ,ojsLV ij (D) fnYyh esa

30. vkokt dh izcyrk fdl ij fuHkZj djrh gS\

(A) Lojeku (B) vk;ke

(C) rjaxnS/;Z (D) osx
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Direction (31-33) : In the following questions, choose the

word opposite in meaning to the given word as your

answer :

31. Knack

(A) Talent (B) Dullness

(C) Dexterity (D) Balance

32. Pernicious

(A) Prolonged (B) Ruinous

(C) Ruthless (D) Beneficial

33. Flippant

(A) Shallow (B) Serious

(C) Strong (D) Successful

Direction (34-36) : In the following questions fill in the

blanks with appropriate preposition :

34. The calculator is ........... the table :

(A) on (B) in

(C) upon (D) above

35. Sohan travelled .............. train :

(A) in (B) by

(C) on (D) into

36. He should take care ................ his health :

(A) of (B) on

(C) to (D) for

Direction (37-38) : In the following questions, out of the

four alternatives choose the one which can be

substituted for the given words/sentence :

37. An assembly of worshippers :

(A) Configuration (B) Confrontation

(C) Congregation (D) Conflagration

38. A medicine to nullify the effect of poison :

(A) Antidote (B) Anticlimax

(C) Antibody (D) Antigen

PART-I ENGLISH

Direction (39-42) : In each of the following question, some

part of the sentences have errors and some have

none. Find out which part of a sentence has an

error. If a sentence is free from error then your

answer is (D).

39. (A) All oranges (B) in the basket

(C) are over-ripe (D) No error

40. (A) They

(B) have to return back

(C) immediatyely

(D) No error

41. (A) Rabindra lost

(B) a hundred rupees note

(C) yesterday

(D) No error

42. (A) I and Rani will (B) go to the market

(C) in the evening (D) No error

Direction (43 - 45) : In each of the following questions,

out of the four alternatives, Choose the one which

best expresses the meaning of the given word as

your anser :

43. Periodic

(A) Continuous (B) Regular

(C) Occasional (D) Infrequent

44. Gruesome

(A) Sullen (B) Hideous

(C) Exhausting (D) Insulting

45. Solitary

(A) Idle (B) Lost

(C) Lonely (D) Quiet
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46. ‘Yellow Revolution’ is associated with :

(A) Gold (B) Oil seeds

(C) Sunflower (D) Poultry

47. ’Kesri’ Newspaper was started by:

(A) G.K. Gokhale

(B) B.G.Tilak

(C) Sardar Patel

(D) Raja Ram Mohan Roy

48. Who among the following was NOT a physician?

(A) Sushruta (B) Charaka

(C) Charvaka (D) Dhanvantari

49. How many players are there in a football team ?

(A) 11 (B) 10

(C) 9 (D) 8

50. What is the national game of Canada?

(A) Ice Hockey (B) Football

(C) Baseball (D) Rugby

51. Where is Airforce academy situated?

(A) Jalahalli (B) Hyderabad

(C) Bangalore (D) Pune

52. When is ‘Bihar Diwas’ celebrated?

(A) June 22 (B) March 22

(C) August 22 (D) July 22

53. Who among the following is the present Finance

Minister of India?

(A) Suresh Prabhu (B) Arun Jaitley

(C) Sushama Swaraj (D) Mahesh Sharma

PART-I GENERAL KNOWLEDGE AND AWARENESS

46. ^ihyh Økafr% fdlls lEcfU/kr gS \

(A) lksuk (B) rsygu

(C) lw;Zew[kh (D) eqxhZ ikyu

47. ^dsljh^ lekpkji= dh “kq:vkr fdlus dh Fkh \

(A) th0 ds0 xks[kys

(B) ch0th0 fryd

(C) ljnkj iVsy

(D) jktkjke eksgu jk;

48. fuEu esa ls dkSu fpfdRld ugha Fkk\

(A) lqJqr (B) pjd

(C) pokZd (D) /kuoarjh

49. QqVckWy Vhe esa fdrus f[kykM+h gksrs gS\

(A) 11 (B) 10

(C) 9 (D) 8

50. dukMk dk jk’Vªh; [ksy D;k gS%

(A) vkbl gkWdh (B) QqVckWy

(C) oslckWy (D) jXch

51. ,;jQkslZ vdkneh dgk¡ fLFkr gS\

(A) tykgyh (B) gSnjkckn

(C) caxyksj (D) iw.ks

52. ^fcgkj fnol^ dc euk;k tkrk gS\

(A) twu 22 (B) ekpZ 22

(C) vxLr 22 (D) tqykbZ 22

53. Hkkjr dk orZeku foÙkea=h fuEufyf[kr esa ls dkSu

gS \

(A) lqjs”k izHkq (B) v:.k tsVyh

(C) lq’kek Lojkt (D) egs”k “kekZ
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54. Who is the Present Chief of ISRO?

(A) A. S. Kiran Kumar

(B) Madhavan Nair

(C) S. Reddy

(D) M. Arvindan

55. Typhoid fever is caused by :

(A) Bacteria (B) Virus

(C) Protozoa (D) Fungi

56. National bird of India is :

(A) Parrot (B) Peacock

(C) Crow (D) Pigeon

57. Which one of the following is the world’s largest

desert ?

(A) Sahara (B) Thar

(C) Kalahari (D) Jaisalmer

58. Which of the following is not a Union Territory?

(A) Lakshadweep (B) Pondicherry

(C) Nagaland (D) Daman & Diu

59. The kharif crops are harvested in :

(A) June-July (B) October-November

(C) May-June (D) March-April

60. Which one of the following is a wildlife Sanctuary?

(A) Shimla (B) Corbett

(C) Champahari (D) Gorumara

54. (ISRO) bljks ds oÙkZeku izeq[k dkSu gS\

(A) ,0,l0 fdj.k dqekj

(B) ek/kou uk;j

(C) ,l0 jsìh

(D) ,e0 vjfoUnu

55. VkbQk;M cq[kkj dk dkj.k gS%

(A) cSfDVjh;k (B) fc’kk.kq

(C) izksVkstksvk (D) Qaxh

56. Hkkjr dk jk’Vªh; i{kh gS %

(A) rksrk (B) eksj

(C) dkSvk (D) dcwrj

57. fo”o dk fuEufyf[kr esa ls lcls cM+k e:LFky dkSu

gS\

(A) lgkjk (B) Fkkj

(C) dkykgkjh (D) tSlyesj

58. fuEu esa ls dkSu&lk dsUnz ”kkflr izns”k ugh gS\

(A) y{k}hi (B) ikafMpsjh

(C) ukxkySaM (D) neu ,oa nhi

59. [kjhQ Qly dh dVkbZ dc gksrh gS\

(A) twu&tqykbZ (B) vDVwcj&uoEcj

(C) ebZ&twu (D) ekpZ^vizSy

60. fuEu esa ls dkSu ^oU; tho vHk;kj.;^ gS%

(A) f”keyk (B) dkWcsZV

(C) pEikgkjh (D) xks:ekjk
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PART-II PROFESSIONAL KNOWLEDGE

61. Triangle is a closed plane figure having .............no.

of sides and .............no. of angles :

(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

62. Name the triangle whose sides are equal :

(A) Equilateral triangle (B) Right angled triangle

(C) Scalene triangle (D) Isosceles triangle

63. Quardrilateral has ....... sides and angles:

(A) 3 (B) 5

(C) 4 (D) 6

64. In a rectangle, opposite sides are equal and

parallel and all four angles are :

(A) Acute (B) Obtuse

(C) More than 90° (D) Right angled

65. The distance from the centre to any point on the

circumference of the circle is called :

(A) Diameter (B) Radius

(C) Chord (D) Sector

66. In a rhombus how many sides are equal ?

(A) 1 (B) 2

(C) 3 (D) 4

67. Part of circle with radii making 90° with each other

is called as :

(A) Arc (B) Internal thread

(C) Segment (D) Quadrant

68. Thread formed outside of a shaft are called :

(A) External thread (B) Internal thread

(C) Right hand thread (D) Left hand thread

69. Which type of threads are used in power press,

carpentry vice, ratchets:

(A) Knuckle thread

(B) Acme thread

(C) Buttress thread

(D) BSW thread

61. f=Hkqt tks ,d can lrg gS mlds vkdM+ks vkSj d.kksa
fd la[;k D;k gS\
(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

62. f=Hkqt ftldh nks i+{k cjkcj gksrs gS mls D;k dgrs
gS\
(A) cjkcj f=Hkqt (B) lgh dks.k f=Hkqt
(C) fo’keukgq f=Hkqt (D) lef)ckgq f=Hkqt

63. prqHkZt ds fdrus i{k vkSj dks.k gksrs gS\
(A) 3 (B) 5

(C) 4 (D) 6

64. ,d vk;r es fojks/kh i{k cjkcj vkSj leku gksrs gS rks
muds pkjks dks.k dSls gksrs gS\
(A) rhoz (B) dqfBr
(C) 90° ls T;knk (D) lh/ks dks.k

65. o`r dh ifj/kh ij fdlh Hkh eqn~ns ij dsUnz ls nwjh dks
D;k dgrs gS%
(A) O;kl (B) f=T;k
(C) T;k (D) {ks=

66. fo’kedks.k ds fdrus i{k cjkcj gksrs gS%
(A) 1 (B) 2

(C) 3 (D) 4

67. ,d nwljs fd f=T;k ds lkFk 90° dk dks.k cukrs gS
rks mls D;k dgrs gS\
(A) pki (B) vUn:uh T;k
(C) [kaMsa (D) mYVs gkFk dk /kkxk

68. vxj ,d “kk¶V ds ckgj ij ,d xfBr pwM+h gS rks
mls D;k dgk tkrk gS%
(A) ckgjh /kkxk (B) vUnz:uh /kkxk
(C) lh/ks gkFk dk /kkxk (D) myVs gkFk dk /kkxk

69. /kkxs dk tks izdkj fctyh izsl] c<+bZxhjh esa iz;ksx
fd;k tkrk gS mls D;k dgrs gS%
(A) uDdy /kkxk
(B) ,Des /kkxk
(C) i”rk /kkxk
(D) ch,lMCyw /kkxk
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70. Name the element of external thread :

(A) Creast (B) Root

(C) Flank (D) Pitch

71. Name the element of internal thread :

(A) Pitch (B) Root

(C) Flank (D) Crest

72. What is the angle in british assosiation method :

(A) 55° (B) 47.5°

(C) 60° (D) 30°

73. What is the thread angle for metric threads :

(A) 30° (B) 47.5°

(C) 60° (D) 55°

74. Name the type of thread in which pressure acts at

one flank of the thread during transmission :

(A) Buttress thread (B) Knuckle thread

(C) Acme thread (D) Metric acme thread

75. What is the angle of buttress thread :

(A) 30° (B) 45°

(C) 47.5° (D) 60°

76. How many starts of thread are there in the multisquare

thread :

(A) Single start thread

(B) Double start thread

(C) Triple start thread

(D) Acme triple start thread

77. The metric acme thread has an angle of ......... :

(A) 60° (B) 50°

(C) 40° (D) 30°

78. To avoid damage of the corners the face of

hexagonal bolt chamfering is given at an angle of :

(A) 30° (B) 45°

(C) 60° (D) 25°

70. ckgjh pwM+h ds rRo dk uke D;k gS%
(A) f”k[kk (B) tM+
(C) fn”kk (D) fip

71. vUnz:uh pwM+h ds rRo dk uke %
(A) fip (B) tM+
(C) fn”kk (D) f”k[kk

72. fczfV”k laXBu esa dks.k dh fof/k D;k gS\
(A) 55° (B) 47.5°

(C) 60° (D) 30°

73. ehfVªd pwM+h ds fy, pwM+h dk dks.k D;k gS\
(A) 30° (B) 47.5°

(C) 60° (D) 55°

74. pwM+h ds izdkj ftlea ncko izlkj.k ds nkSjku pwM+h
ls ,d fn”kk esa dk;Z djrk gS mldk uke D;k gS%
(A) iq”rk pwM+h (B) uDdy pwM+h
(C) ,Des pwM+h (D) ehfVªd ,des pwM+h

75. iaq”rk pwM+hs dk dks.k D;k gksrk gS%
(A) 30° (B) 45°

(C) 47.5° (D) 60°

76. cgqpkSdksj pwM+h esa “kq:vkr esa fdrus pwM+hs gksrs gS%
(A) ,d “kq:vkrh pwM+h
(B) nks “kq:vkrh pwM+h
(C) rhu “kq:vkrh pwM+h
(D) ,Des rhu “kq:vkrh pwM+h

77. ehfVªd ,des pwM+hs dk dks.k D;k gksrk gS%
(A) 60° (B) 50°

(C) 40° (D) 30°

78. dksuks dks {kfr ls cpkus ds fy, gsDlkxksuy cksYV
dk dks.k fdruk j[kk tkrk gS%
(A) 30° (B) 45°

(C) 60° (D) 25°
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79. Name the type of bolt used in the assembly
drawing:
(A) Cup head bolt
(B) T-head bolt
(C) Tap bolt or cap screw
(D) Square head bolt

80. Name the nut whose movement is prevented by a
plate with grooves to suit the hut and plate is screwed
down to the body by set screw :
(A) Cap nut
(B) Dome nut
(C) Cylindrical nut

(D) Locking by locking plate or stop plate

81. The head (stock) of T-square is made out of....... :

(A) Wood/Celluloid (B) Metallic Platc

(C) Hard board (D) Ceramic material

82. Protractor is used to draw :

(A) Line (B) Measure angle

(C) Various shape (D) Regular shape

83. The set square are made up straight surface :

(A) 3 (B) 4

(C) 5 (D) None of these

84. What is the material of high grade drawing

instrument :

(A) Cadmium (B) Nickel

(C) Aluminimum (D) Stainles steel

85. Which type of compass is used for dividing?

(A) Large compass (B) Small compass

(C) Medium compass (D) Beam compass

86. Angle at a point is ...................... :

(A) 90° (B) 180°

(C) 270° (D) 360°

87. We obtain 180° in :

(A) Reflex angle (B) Adjacent angle

(C) Straight angle (D) Complementary angle

79. tksMus dh Mªkbax esa bLrseky cksYV ds izdkj dk
uke D;k gS %
(A) di gSM cksYV
(B) Vh gSM cksYV
(C) uy cksYV ;k Vksih isap
(D) oxZ gSM cksYV

80. uV ftldh izfrfØ;k dks Hkkyh esa ,d lsV Vksap ds
lkFk j[kk tkrk gS mldk uke D;k gS%
(A) Vksih uV
(B) xqacn uV
(C) xksy uV
(D) izsV ij jksd can djds rkyk yxkuk

81. Vh LDok;j dk gSM LDos;j fdlls feydj curk gS\
(A) ydM+h (B) /kkrq dh IysV ls
(C) dBksj r[rk (D) phuh feV~Vh ls

82. izdkj dk iz;ksx D;k gksrk gS%
(A) ykbu (B) mik; ds dks.k
(C) fofHkUu vkdkj (D) leku vkdkj

83. lsV LDos;j dh lh/kh lrg ds fdrus Hkkx gksrk gS%
(A) 3 (B) 4

(C) 5 (D) mijksä esa ls dksbZ ugh

84. MjkbZax bULVwesaV ckDl esa gkbZ xszM leku dkSu lk gS%
(A) daMfe;e (B) fuDdy
(C) ,syqfefu;e (D) LVsuysl LVhy

85. fMokfMax ds fy, dkSu lk izdkj iz;ksx esa yk;k
tkrk gS\
(A) cM+h izdkj (B) NksVk izdkj
(C) e/;e izdkj (D) che izdkj

86. dks.k dk fcUnq fdruk gksrk gS\
(A) 90° (B) 180°

(C) 270° (D) 360°

87. 180° dk dks.k fdrus ij curk gS\
(A) fjQysDl dks.k (B) ,sMtSlsaV dks.k
(C) lh/kk dks.k (D) dkEiyheSUVªh dks.k
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88. Which one of the following is more durable material

for scale?

(A) Wood (B) Ivory

(C) Cellculoid/plastic (D) Stainless steel

89. What is the length and breadth ratio of a drawing

paper?

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

90. Which of the following pencil lead is softest?

(A) 7 B grade (B) 6 B grade

(C) 5 B grade (D) 4 B grade

91. What is the angle of inclined letter to be drawn

through right side?

(A) 75° (B) 60°

(C) 30° (D) 15°

92. What is the minimum spacing between words in type.

A standard of lettering?

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

93. Letters are designated by their :

(A) Bottom width (B) Thickness of stroke

(C) Top width (D) Height

94. What is the standard width of capital letter M in

terms of thickness d?

(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

95. Which one is a method of dimensioning :

(A) Horizontal system

(B) Vertical system

(C) Aligned system

(D) Allen system

88. dkSu lk ekiuh lcls T;knk etcwr gksrk gS\
(A) ydM+h (B) bZoksjh
(C) IyflfVd (D) LVsuySl LVhy

89. Ao dkxt dh yackbZ % pkSM+kbZ dk vuqikr D;k gS\

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

90. dkSu lh iSflay fd uksd lk¶V gksrh gS\
(A) 7 B xzsM (B) 6 B xzsM
(C) 5 B xzsM (D) 4 B xzsM

91. tks v{kj frjNs j[ks tkrs gS mudk dks.k D;k gksrk
gS\
(A) 75° (B) 60°

(C) 30° (D) 15°

92. VkbZi ‘A’ LVsaMMZ esa nks v{kjksa ds chp esa fdruk xsi
j[kk tkrk gS%

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

93. v{kj dSls cuk, tkrs gS%
(A) uhps dh pkSM+kbZ ij (B) v{kj dh eksVkbZ ij
(C) Åij dh pkSM+kbZ ij (D) yEckbZ ij

94. lk/kkj.k pkSM+kbZ M dh eksVkbZ d ds {ks= esa D;k gS\
(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

95. MkbeSu”kfuax ds eSFkM dkSu&dkSu ls gksrs gS %
(A) gkfjtkuVy flLVe
(B) ofVZdy flLVe
(C) ,ykbUM flLVe
(D) ,Sfyu flLVe
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96. The recommended method of dimensioning a

sphere with diameter 20 mm is :

(A) 20  s (B)  20 s

(C) s 20 (D) s 20

97. Choose which one R.F. represents reduced scale

drawing?

(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

98. Name the scale on the principle of similar triangle :

(A) Enlarged scale (B) Plain scale

(C) Reduced scale (D) Diagonal scale

99. Name the type of scale used to measure 3.88 metres:

(A) Plain scale (B) Reduced scale

(C) Diagonal scale (D) Enlarged scale

100. If the actual length of line 50 mm is drawn to a

length 10 mm, which is the ratio followed:

(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2

96. LQs;j dh MkbZeS”kfuax ds Mk;ehVj 20 mm dks dSls
fy[kk tkrk gS\
(A) 20  s (B)  20 s

(C) s 20 (D) s 20a

97. R.F. dks fjM;wlM Ldsy ij dSls fMuksV fd;k tkrk
gS%
(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

98. f=dks.k ds fl)kar dk iSekuk fdl ij vk/kkfjr gS%
(A) cM+s iSekus (B) lkns iSekus
(C) de iSekus (D) fod.kZ iSekus

99. 3-88 eh ekius ds fy, bLrseky iSekus ds izdkj dk
uke D;k gS\
(A) lkns iSekus (B) de iSekus
(C) fod.kZ iSekus (D) cM+s iSekus

100. ;fn 50mm dh okLrfod yackbZ 10mm dj nh tk,
rks ml D;k dgrs gS\
(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2
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PART-I MATHS
1. Area of the incircle of an equidateral triangle with

side 6 cm is :

(A)
2


 Sq cm (B) 3  Sq cm

(C) 6   Sq cm (D) 3  Sq cm

2. 40% of 800 + 20% of 400 = ?

(A) 160 (B) 400

(C) 280 (D) 320

3. The numbers are in the ratio of 3 : 5. If 9 be

subtracted from each, then they are in the ratio of

12 : 23, find the bigger number :

(A) 55 (B) 115

(C) 69 (D) 28

4. The sum of the squares of three consecutive odd

numbers is 2531. Find the smallest number:

(A) 23 (B) 25

(C) 27 (D) 29

5. What is the unit place digit of 679 x 671 x 56 x 5 ?

(A) 0 (B) 1

(C) 4 (D) 6

6. If 14 x x = 1050, Then 4 x = ?

(A) 100 (B) 200

(C) 300 (D) 400

7. If (64)2 - (36)2 = 10 x x, then x = ?

(A) 280 (B) 140

(C) 70 (D) 35

8. Which natural number nearest to 9216, which is

completely divisible by 88?

(A) 9230 (B) 9236

(C) 9240 (D) 9250

9. The ratio of age of a father to that of his son is

5 : 2. If the product of their ages in years is 1000,

then the father’s age (in years) after 10 years will

be :

(A) 50 (B) 60

(C) 45 (D) 55

1. 6 cm Hkqtk,¡ ckys leckgq f=Hkqt ds var%òr dk {ks=Qy
fdruk gS\

(A)
2


  oxZ lseh (B) 3   Sq cm

(C) 6   Sq cm (D) 3   Sq cm

2. 800 dk 40 izfr”kr $ 400 dk 20 izfr”kr cjkcj gS ?
(A) 160 (B) 400

(C) 280 (D) 320

3. nks la[;kvkssa dk vuqikr 3 : 5. gSA ;fn izR;sd la[;k
esa ls 9 ?kVk fn;k tk; rks vuqikr 12 : 23, gks tkrk
gS cM+h la[;k Kkr dhft;s %
(A) 55 (B) 115

(C) 69 (D) 28

4. rhu yxkrkj fo’ke la[;vksa ds oxksZ dk ;ksx 2531

gSA rks lcls NksVh la[;k Kkr dhft;s%
(A) 23 (B) 25

(C) 27 (D) 29

5. 679 x 671 x 56 x 5 dk bZdkbZ vad D;k gS ?
(A) 0 (B) 1

(C) 4 (D) 6

6. ;fn 14 x x = 1050, gks rks 4 x dk eku D;k gS?
(A) 100 (B) 200

(C) 300 (D) 400

7. ;fn (64)2 - (36)2 = 10 x x, rks x = ?

(A) 280 (B) 140

(C) 70 (D) 35

8. 9216 ds fudVre og dkSu&lh izkÑr la[;k gS tks
88 ls iw.kZr% foHkkftr gS?
(A) 9230 (B) 9236

(C) 9240 (D) 9250

9. firk rFkk iq= dh vk;q dk vuqikr 5 : 2 gSA ;fn
nksuksa dh vk;q dk xq.kuQy o’kksZ esa 1000 gS] rks firk
dh vk;q (o’kZ esa) 10 o’kZ ckn fdruh gksxh \
(A) 50 (B) 60

(C) 45 (D) 55
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10. ;fn 
2

1
sin  , gks rks cos  = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

11.
2

1

2

1 









 dk eku gS%

(A) 2 (B) - 2

(C) 1 (D)
2

1

12. ;fn fdlh oLrq dk Ø; ewY; mlds foØ; ewY; dk
60% gS rks ykHk % fdruk gS \

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%

13. jes”k dk osru lksgu ds osru ls 25% vf/kd gS rks
lksgu dk osru jes”k ds osru ls fdruk izfr”kr de
gS\
(A) 24% (B) 27.5%

(C) 20% (D) 25%

14. nks la[;kvksa dk e0l0 96 gS rFkk mudk y0l0 1296

gSA ;fn muesa ls ,d la[;k 864 gS rks nwljh la[;k
gS%
(A) 148 (B) 144

(C) 196 (D) 156

15. Øfed cêksa 20%, 25%, rFkk 10% ds lerqY; ,dy
cêk gS:
(A) 40% (B) 44%

(C) 54% (D) 46%

10. If 
2

1
sin  , then cos = ?

(A) 1 (B) 2

(C)
2

1
(D)

5

1

11.
2

1

2

1 









 is equal to :

(A) 2 (B) - 2

(C) 1 (D)
2

1

12. If the cost price of an article is 60% of its selling

price, the profit percent is :

(A) 33
3

1
% (B) 40%

(C) 66
3

2
% (D) 60%

13. Ramesh’s salary is 25% more than sohan’s salary.

Sohan’s salary is how much less than Ramesh’s

salary?

(A) 24% (B) 27.5%

(C) 20% (D) 25%

14. The H.C.F. of two number is 96 and their L.C.M. is

1296. If one of the numbers is 864, the other is :

(A) 148 (B) 144

(C) 196 (D) 156

15. The single discount which is equal to successive

discounts of 20%, 25%, and 10% is :

(A) 40% (B) 44%

(C) 54% (D) 46%



5ASI-DRAUGHTSMAN SET-D

16. The compound which has covalent bond is :

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O

17. The colour of hydrogen is :

(A) Yellow (B) Colourless

(C) Red (D) Orange

18. Who is  known as father of Biology?

(A) Aristotle (B) Darwin

(C) Lamark (D) Purkenja

19. Which of the following gas is not known as green

house gas?

(A) Methane (B) Carbon dioxide

(C) Nitrous Oxide (D) Hydrogen

20. Which method of water purification does not kill

microorganism:

(A) Boiling (B) Filtration

(C) Chlorination (D) UV-irradiation

21. Chlorofluro carbons are widely used in :

(A) Solar heaters (B) Refrigerators

(C) Washing machine (D) Microovens

22. Light year is a unit of :

(A) Distance (B) Speed of light

(C) Speed (D) Time

23. Curie is a unit of :

(A) Radio activity (B) Energy

(C) Heat (D) Temperature

24. If the momentum of a body is increased by 50%. its

K.E. will increase by :

(A) 100% (B) 125%

(C) 200% (D) 150%

PART-I SCIENCE

16. fdl ;kSfxd esa lg&la;kstd ca/ku gS\

(A) Cacl (B) CaO

(C) N
2

(D) Na
2
O

17. gkbMªkstu dk jax gksrk gS%

(A) ihyk (B) jaxghu

(C) yky (D) ukjaxh

18. tho foKku ds firk ds :i esa fdls tkuk tkrk gS\

(A) vjLrq (B) Mkjfou

(C) ykedZ (D) iqdsZtk

19. fuEu esa ls dkSu&lh gfjr xSal ugh gS\

(A) feFksu (B) dkcZu MkbD¡lkbM

(C) ukbVªl vkWDlkbM (D) gkbMªkstu

20. ty “kq)hdj.k ds fdl rjhds ls lwPethoh ugha

ejrs \

(A) mckyuk (B) fuL;anu

(C) Dyksjhfudj.k (D) ;w0oh0&foHkklu

21. Dyksjks¶yksjka dkcZu dk izeq[kr% fdles bLrseky gksrk

gS%

(A) lksyj ghVj (B) jsfÝtjsVj

(C) okf”kax e”khu (D) ekbØks vksosu

22. ^izdk”k o’kZ^ fdldh bZdkbZ gS \

(A) nwjh dh (B) izdk”k ds xfr dh

(C) xfr dh (D) le; dh

23. ^D;wjh^ fdldh bZdkbZ gS\

(A) jsfM;ksfDVfoVh (B) ÅtkZ

(C) m’ek (D) rki

24. ;fn fdlh oLrq dk vkosx 50% c<+k fn;k tk, rks

mldh {kfrt ÅtkZ fdruh c<+ tk,xh \

(A) 100% (B) 125%

(C) 200% (D) 150%
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25. Cooking will take longest time at :

(A) Sea level (B) Manali

(C) Mount  Everest (D) Delhi

26. The loudness of sound depends upon :

(A) Pitch (B) Amplitude

(C) Wavelength (D) Velocity

27. The conductivity of superconductor is :

(A) Very large (B) Very small

(C) Infinite (D) Zero

28. 1 amu is equal to :

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

29. How many neutrons are there in an atom of

hydrogen  ?

(A) One (B) Zero

(C) Two (D) Three

30. Which of the following has highest frequency?

(A) Cosmic rays (B) X-rays

(C) Radio waves (D) Microwaves

25. dgk¡ [kkuk cukus esa lcls T;knk le; yxsxk\

(A) leqnz&ry ij (B) eukyh esa

(C) ekmaV ,ojsLV ij (D) fnYyh esa

26. vkokt dh izcyrk fdl ij fuHkZj djrh gS\

(A) Lojeku (B) vk;ke

(C) rjaxnS/;Z (D) osx

27. vfrpkyd dh (pkydrk) fdruh gksrh gS\

(A) cgqr vf/kd (B) cgqr de

(C) vuUr (D) “kwU;

28. 1 ,0,e0;w0 cjkcj gksrk gS%

(A) 1.66 x 10-24 g (B) 6.02 x 10-23g

(C) 0.000549 g (D) 1.00758 g

29. gkbMªkstu ds v.kq esa fdrus U;wVªkWu gksrs gS\

(A) ,d (B) “kwU;

(C) nks (D) rhu

30. fuEu esa ls fdldh lcls vf/kd vko`fr gksrh gS\

(A) dkWfLed fdj.ksa (B) X-fdj.ksa

(C) jsfM;ksa rjax (D) “kw{erjaxs
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Direction (31-33) : In the following questions fill in the

blanks with appropriate preposition :

31. The calculator is ........... the table :

(A) on (B) in

(C) upon (D) above

32. Sohan travelled .............. train :

(A) in (B) by

(C) on (D) into

33. He should take care ................ his health :

(A) of (B) on

(C) to (D) for

Direction (34-35) : In the following questions, out of the

four alternatives choose the one which can be

substituted for the given words/sentence :

34. An assembly of worshippers :

(A) Configuration (B) Confrontation

(C) Congregation (D) Conflagration

35. A medicine to nullify the effect of poison :

(A) Antidote (B) Anticlimax

(C) Antibody (D) Antigen

Direction (36-39) : In each of the following question, some

part of the sentences have errors and some have

none. Find out which part of a sentence has an

error. If a sentence is free from error then your

answer is (D).

36. (A) All oranges (B) in the basket

(C) are over-ripe (D) No error

37. (A) They

(B) have to return back

(C) immediatyely

(D) No error

PART-I ENGLISH

38. (A) Rabindra lost

(B) a hundred rupees note

(C) yesterday

(D) No error

39. (A) I and Rani will (B) go to the market

(C) in the evening (D) No error

Direction (40 - 42) : In each of the following questions,

out of the four alternatives, Choose the one which

best expresses the meaning of the given word as

your anser :

40. Periodic

(A) Continuous (B) Regular

(C) Occasional (D) Infrequent

41. Gruesome

(A) Sullen (B) Hideous

(C) Exhausting (D) Insulting

42. Solitary

(A) Idle (B) Lost

(C) Lonely (D) Quiet

Direction (43-45) : In the following questions, choose the

word opposite in meaning to the given word as your

answer :

43. Knack

(A) Talent (B) Dullness

(C) Dexterity (D) Balance

44. Pernicious

(A) Prolonged (B) Ruinous

(C) Ruthless (D) Beneficial

45. Flippant

(A) Shallow (B) Serious

(C) Strong (D) Successful
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46. How many players are there in a football team ?

(A) 11 (B) 10

(C) 9 (D) 8

47. What is the national game of Canada?

(A) Ice Hockey (B) Football

(C) Baseball (D) Rugby

48. Where is Airforce academy situated?

(A) Jalahalli (B) Hyderabad

(C) Bangalore (D) Pune

49. When is ‘Bihar Diwas’ celebrated?

(A) June 22 (B) March 22

(C) August 22 (D) July 22

50. Who among the following is the present Finance

Minister of India?

(A) Suresh Prabhu (B) Arun Jaitley

(C) Sushama Swaraj (D) Mahesh Sharma

51. Who is the Present Chief of ISRO?

(A) A. S. Kiran Kumar

(B) Madhavan Nair

(C) S. Reddy

(D) M. Arvindan

52. Typhoid fever is caused by :

(A) Bacteria (B) Virus

(C) Protozoa (D) Fungi

53. National bird of India is :

(A) Parrot (B) Peacock

(C) Crow (D) Pigeon

PART-I GENERAL KNOWLEDGE AND AWARENESS

46. QqVckWy Vhe esa fdrus f[kykM+h gksrs gS\

(A) 11 (B) 10

(C) 9 (D) 8

47. dukMk dk jk’Vªh; [ksy D;k gS%

(A) vkbl gkWdh (B) QqVckWy

(C) oslckWy (D) jXch

48. ,;jQkslZ vdkneh dgk¡ fLFkr gS\

(A) tykgyh (B) gSnjkckn

(C) caxyksj (D) iw.ks

49. ^fcgkj fnol^ dc euk;k tkrk gS\

(A) twu 22 (B) ekpZ 22

(C) vxLr 22 (D) tqykbZ 22

50. Hkkjr dk orZeku foÙkea=h fuEufyf[kr esa ls dkSu

gS \

(A) lqjs”k izHkq (B) v:.k tsVyh

(C) lq’kek Lojkt (D) egs”k “kekZ

51. (ISRO) bljks ds oÙkZeku izeq[k dkSu gS\

(A) ,0,l0 fdj.k dqekj

(B) ek/kou uk;j

(C) ,l0 jsìh

(D) ,e0 vjfoUnu

52. VkbQk;M cq[kkj dk dkj.k gS%

(A) cSfDVjh;k (B) fc’kk.kq

(C) izksVkstksvk (D) Qaxh

53. Hkkjr dk jk’Vªh; i{kh gS %

(A) rksrk (B) eksj

(C) dkSvk (D) dcwrj
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54. Which one of the following is the world’s largest

desert ?

(A) Sahara (B) Thar

(C) Kalahari (D) Jaisalmer

55. Which of the following is not a Union Territory?

(A) Lakshadweep (B) Pondicherry

(C) Nagaland (D) Daman & Diu

56. The kharif crops are harvested in :

(A) June-July (B) October-November

(C) May-June (D) March-April

57. Which one of the following is a wildlife Sanctuary?

(A) Shimla (B) Corbett

(C) Champahari (D) Gorumara

58. ‘Yellow Revolution’ is associated with :

(A) Gold (B) Oil seeds

(C) Sunflower (D) Poultry

59. ’Kesri’ Newspaper was started by:

(A) G.K. Gokhale

(B) B.G.Tilak

(C) Sardar Patel

(D) Raja Ram Mohan Roy

60. Who among the following was NOT a physician?

(A) Sushruta (B) Charaka

(C) Charvaka (D) Dhanvantari

54. fo”o dk fuEufyf[kr esa ls lcls cM+k e:LFky dkSu

gS\

(A) lgkjk (B) Fkkj

(C) dkykgkjh (D) tSlyesj

55. fuEu esa ls dkSu&lk dsUnz ”kkflr izns”k ugh gS\

(A) y{k}hi (B) ikafMpsjh

(C) ukxkySaM (D) neu ,oa nhi

56. [kjhQ Qly dh dVkbZ dc gksrh gS\

(A) twu&tqykbZ (B) vDVwcj&uoEcj

(C) ebZ&twu (D) ekpZ^vizSy

57. fuEu esa ls dkSu ^oU; tho vHk;kj.;^ gS%

(A) f”keyk (B) dkWcsZV

(C) pEikgkjh (D) xks:ekjk

58. ^ihyh Økafr% fdlls lEcfU/kr gS \

(A) lksuk (B) rsygu

(C) lw;Zew[kh (D) eqxhZ ikyu

59. ^dsljh^ lekpkji= dh “kq:vkr fdlus dh Fkh \

(A) th0 ds0 xks[kys

(B) ch0th0 fryd

(C) ljnkj iVsy

(D) jktkjke eksgu jk;

60. fuEu esa ls dkSu fpfdRld ugha Fkk\

(A) lqJqr (B) pjd

(C) pokZd (D) /kuoarjh
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PART-II PROFESSIONAL KNOWLEDGE

61. Name the element of internal thread :

(A) Pitch (B) Root

(C) Flank (D) Crest

62. What is the angle in british assosiation method :

(A) 55° (B) 47.5°

(C) 60° (D) 30°

63. What is the thread angle for metric threads :

(A) 30° (B) 47.5°

(C) 60° (D) 55°

64. Name the type of thread in which pressure acts at

one flank of the thread during transmission :

(A) Buttress thread (B) Knuckle thread

(C) Acme thread (D) Metric acme thread

65. What is the angle of buttress thread :

(A) 30° (B) 45°

(C) 47.5° (D) 60°

66. How many starts of thread are there in the multisquare

thread :

(A) Single start thread

(B) Double start thread
(C) Triple start thread
(D) Acme triple start thread

67. The metric acme thread has an angle of ......... :
(A) 60° (B) 50°
(C) 40° (D) 30°

68. To avoid damage of the corners the face of
hexagonal bolt chamfering is given at an angle of :
(A) 30° (B) 45°
(C) 60° (D) 25°

69. Name the type of bolt used in the assembly
drawing:
(A) Cup head bolt
(B) T-head bolt
(C) Tap bolt or cap screw
(D) Square head bolt

61. vUnz:uh pwM+h ds rRo dk uke %
(A) fip (B) tM+
(C) fn”kk (D) f”k[kk

62. fczfV”k laXBu esa dks.k dh fof/k D;k gS\
(A) 55° (B) 47.5°

(C) 60° (D) 30°

63. ehfVªd pwM+h ds fy, pwM+h dk dks.k D;k gS\
(A) 30° (B) 47.5°

(C) 60° (D) 55°

64. pwM+h ds izdkj ftlea ncko izlkj.k ds nkSjku pwM+h
ls ,d fn”kk esa dk;Z djrk gS mldk uke D;k gS%
(A) iq”rk pwM+h (B) uDdy pwM+h
(C) ,Des pwM+h (D) ehfVªd ,des pwM+h

65. iaq”rk pwM+hs dk dks.k D;k gksrk gS%
(A) 30° (B) 45°

(C) 47.5° (D) 60°

66. cgqpkSdksj pwM+h esa “kq:vkr esa fdrus pwM+hs gksrs gS%
(A) ,d “kq:vkrh pwM+h
(B) nks “kq:vkrh pwM+h
(C) rhu “kq:vkrh pwM+h
(D) ,Des rhu “kq:vkrh pwM+h

67. ehfVªd ,des pwM+hs dk dks.k D;k gksrk gS%
(A) 60° (B) 50°
(C) 40° (D) 30°

68. dksuks dks {kfr ls cpkus ds fy, gsDlkxksuy cksYV
dk dks.k fdruk j[kk tkrk gS%
(A) 30° (B) 45°
(C) 60° (D) 25°

69. tksMus dh Mªkbax esa bLrseky cksYV ds izdkj dk
uke D;k gS %
(A) di gSM cksYV
(B) Vh gSM cksYV
(C) uy cksYV ;k Vksih isap
(D) oxZ gSM cksYV
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70. Name the nut whose movement is prevented by a
plate with grooves to suit the hut and plate is screwed
down to the body by set screw :
(A) Cap nut
(B) Dome nut
(C) Cylindrical nut

(D) Locking by locking plate or stop plate

71. The head (stock) of T-square is made out of....... :

(A) Wood/Celluloid (B) Metallic Platc

(C) Hard board (D) Ceramic material

72. Protractor is used to draw :

(A) Line (B) Measure angle

(C) Various shape (D) Regular shape

73. The set square are made up straight surface :

(A) 3 (B) 4

(C) 5 (D) None of these

74. What is the material of high grade drawing

instrument :

(A) Cadmium (B) Nickel

(C) Aluminimum (D) Stainles steel

75. Which type of compass is used for dividing?

(A) Large compass (B) Small compass

(C) Medium compass (D) Beam compass

76. Angle at a point is ...................... :

(A) 90° (B) 180°

(C) 270° (D) 360°

77. We obtain 180° in :

(A) Reflex angle (B) Adjacent angle

(C) Straight angle (D) Complementary angle

78. Which one of the following is more durable material

for scale?

(A) Wood (B) Ivory

(C) Cellculoid/plastic (D) Stainless steel

70. uV ftldh izfrfØ;k dks Hkkyh esa ,d lsV Vksap ds
lkFk j[kk tkrk gS mldk uke D;k gS%
(A) Vksih uV
(B) xqacn uV
(C) xksy uV
(D) izsV ij jksd can djds rkyk yxkuk

71. Vh LDok;j dk gSM LDos;j fdlls feydj curk gS\
(A) ydM+h (B) /kkrq dh IysV ls
(C) dBksj r[rk (D) phuh feV~Vh ls

72. izdkj dk iz;ksx D;k gksrk gS%
(A) ykbu (B) mik; ds dks.k
(C) fofHkUu vkdkj (D) leku vkdkj

73. lsV LDos;j dh lh/kh lrg ds fdrus Hkkx gksrk gS%
(A) 3 (B) 4

(C) 5 (D) mijksä esa ls dksbZ ugh

74. MjkbZax bULVwesaV ckDl esa gkbZ xszM leku dkSu lk gS%
(A) daMfe;e (B) fuDdy
(C) ,syqfefu;e (D) LVsuysl LVhy

75. fMokfMax ds fy, dkSu lk izdkj iz;ksx esa yk;k
tkrk gS\
(A) cM+h izdkj (B) NksVk izdkj
(C) e/;e izdkj (D) che izdkj

76. dks.k dk fcUnq fdruk gksrk gS\
(A) 90° (B) 180°

(C) 270° (D) 360°

77. 180° dk dks.k fdrus ij curk gS\
(A) fjQysDl dks.k (B) ,sMtSlsaV dks.k
(C) lh/kk dks.k (D) dkEiyheSUVªh dks.k

78. dkSu lk ekiuh lcls T;knk etcwr gksrk gS\
(A) ydM+h (B) bZoksjh
(C) IyflfVd (D) LVsuySl LVhy
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79. What is the length and breadth ratio of a drawing

paper?

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

80. Which of the following pencil lead is softest?

(A) 7 B grade (B) 6 B grade

(C) 5 B grade (D) 4 B grade

81. What is the angle of inclined letter to be drawn

through right side?

(A) 75° (B) 60°

(C) 30° (D) 15°

82. What is the minimum spacing between words in type.

A standard of lettering?

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

83. Letters are designated by their :

(A) Bottom width (B) Thickness of stroke

(C) Top width (D) Height

84. What is the standard width of capital letter M in

terms of thickness d?

(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

85. Which one is a method of dimensioning :

(A) Horizontal system

(B) Vertical system

(C) Aligned system

(D) Allen system

86. The recommended method of dimensioning a

sphere with diameter 20 mm is :

(A) 20  s (B)  20 s

(C) s 20 (D) s 20

79. Ao dkxt dh yackbZ % pkSM+kbZ dk vuqikr D;k gS\

(A) 1 : 2 (B) 1 : 3

(C) 3 : 2 (D) 2 : 3

80. dkSu lh iSflay fd uksd lk¶V gksrh gS\
(A) 7 B xzsM (B) 6 B xzsM
(C) 5 B xzsM (D) 4 B xzsM

81. tks v{kj frjNs j[ks tkrs gS mudk dks.k D;k gksrk
gS\
(A) 75° (B) 60°

(C) 30° (D) 15°

82. VkbZi ‘A’ LVsaMMZ esa nks v{kjksa ds chp esa fdruk xsi
j[kk tkrk gS%

(A) 
14

1
(B) 

14

2

(C) 
14

6
(D) 

14

20

83. v{kj dSls cuk, tkrs gS%
(A) uhps dh pkSM+kbZ ij (B) v{kj dh eksVkbZ ij
(C) Åij dh pkSM+kbZ ij (D) yEckbZ ij

84. lk/kkj.k pkSM+kbZ M dh eksVkbZ d ds {ks= esa D;k gS\
(A) 5 d (B) 9 d

(C) 7 d (D) 12 d

85. MkbeSu”kfuax ds eSFkM dkSu&dkSu ls gksrs gS %
(A) gkfjtkuVy flLVe
(B) ofVZdy flLVe
(C) ,ykbUM flLVe
(D) ,Sfyu flLVe

86. LQs;j dh MkbZeS”kfuax ds Mk;ehVj 20 mm dks dSls
fy[kk tkrk gS\
(A) 20  s (B)  20 s

(C) s 20 (D) s 20a
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87. Choose which one R.F. represents reduced scale

drawing?

(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

88. Name the scale on the principle of similar triangle :

(A) Enlarged scale (B) Plain scale

(C) Reduced scale (D) Diagonal scale

89. Name the type of scale used to measure 3.88 metres:

(A) Plain scale (B) Reduced scale

(C) Diagonal scale (D) Enlarged scale

90. If the actual length of line 50 mm is drawn to a

length 10 mm, which is the ratio followed:

(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2

91. Triangle is a closed plane figure having .............no.

of sides and .............no. of angles :

(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

92. Name the triangle whose sides are equal :

(A) Equilateral triangle (B) Right angled triangle

(C) Scalene triangle (D) Isosceles triangle

93. Quardrilateral has ....... sides and angles:

(A) 3 (B) 5

(C) 4 (D) 6

94. In a rectangle, opposite sides are equal and

parallel and all four angles are :

(A) Acute (B) Obtuse

(C) More than 90° (D) Right angled

95. The distance from the centre to any point on the

circumference of the circle is called :

(A) Diameter (B) Radius

(C) Chord (D) Sector

96. In a rhombus how many sides are equal ?

(A) 1 (B) 2

(C) 3 (D) 4

87. R.F. dks fjM;wlM Ldsy ij dSls fMuksV fd;k tkrk
gS%
(A) 1 : 1 (B) 1 : 20

(C) 50 : 1 (D) 8 : 6

88. f=dks.k ds fl)kar dk iSekuk fdl ij vk/kkfjr gS%
(A) cM+s iSekus (B) lkns iSekus
(C) de iSekus (D) fod.kZ iSekus

89. 3-88 eh ekius ds fy, bLrseky iSekus ds izdkj dk
uke D;k gS\
(A) lkns iSekus (B) de iSekus
(C) fod.kZ iSekus (D) cM+s iSekus

90. ;fn 50mm dh okLrfod yackbZ 10mm dj nh tk,
rks ml D;k dgrs gS\
(A) 1 : 5 (B) 5 : 1

(C) 1 : 10 (D) 1 : 2

91. f=Hkqt tks ,d can lrg gS mlds vkdM+ks vkSj d.kksa
fd la[;k D;k gS\
(A) 3, 4 (B) 5, 6

(C) 3, 6 (D) 3, 3

92. f=Hkqt ftldh nks i+{k cjkcj gksrs gS mls D;k dgrs
gS\
(A) cjkcj f=Hkqt (B) lgh dks.k f=Hkqt
(C) fo’keukgq f=Hkqt (D) lef)ckgq f=Hkqt

93. prqHkZt ds fdrus i{k vkSj dks.k gksrs gS\
(A) 3 (B) 5

(C) 4 (D) 6

94. ,d vk;r es fojks/kh i{k cjkcj vkSj leku gksrs gS rks
muds pkjks dks.k dSls gksrs gS\
(A) rhoz (B) dqfBr
(C) 90° ls T;knk (D) lh/ks dks.k

95. o`r dh ifj/kh ij fdlh Hkh eqn~ns ij dsUnz ls nwjh dks
D;k dgrs gS%
(A) O;kl (B) f=T;k
(C) T;k (D) {ks=

96. fo’kedks.k ds fdrus i{k cjkcj gksrs gS%
(A) 1 (B) 2

(C) 3 (D) 4
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97. Part of circle with radii making 90° with each other

is called as :

(A) Arc (B) Internal thread

(C) Segment (D) Quadrant

98. Thread formed outside of a shaft are called :

(A) External thread (B) Internal thread

(C) Right hand thread (D) Left hand thread

99. Which type of threads are used in power press,

carpentry vice, ratchets:

(A) Knuckle thread

(B) Acme thread

(C) Buttress thread

(D) BSW thread

100. Name the element of external thread :

(A) Creast (B) Root

(C) Flank (D) Pitch

97. ,d nwljs fd f=T;k ds lkFk 90° dk dks.k cukrs gS
rks mls D;k dgrs gS\
(A) pki (B) vUn:uh T;k
(C) [kaMsa (D) mYVs gkFk dk /kkxk

98. vxj ,d “kk¶V ds ckgj ij ,d xfBr pwM+h gS rks
mls D;k dgk tkrk gS%
(A) ckgjh /kkxk (B) vUnz:uh /kkxk
(C) lh/ks gkFk dk /kkxk (D) myVs gkFk dk /kkxk

99. /kkxs dk tks izdkj fctyh izsl] c<+bZxhjh esa iz;ksx
fd;k tkrk gS mls D;k dgrs gS%
(A) uDdy /kkxk
(B) ,Des /kkxk
(C) i”rk /kkxk
(D) ch,lMCyw /kkxk

100. ckgjh pwM+h ds rRo dk uke D;k gS%
(A) f”k[kk (B) tM+
(C) fn”kk (D) fip
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